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The following table shows the percentage (%) distribution of 12t class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above matks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the
questions that follow.

School-wise Distribution of Students Based on Marks

Scoring 95'% and above Scoring between 90 - 95%
Gehod marks(6000) marks (10000)
I;Fr;f::l?f:s Girls : Boys ?:ﬁiﬁiﬁz Girls : Boys
A 13% I1:8 16% 32
B 18% bt 6% 1:4
C 17% B35 10% Bid
D 8% 7:1 28% 23
E 24% 5:4 21% g5
F 20% 5.8 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827036077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For school E, the difference between the numbers of boys who scored 95% and above marks and
boys who scored between 90 - 95% marks is :

(1) 115

(2) 120

(3) 110

(4) 105

Options :
878270141841.1
878270141842. 2
878270141843. 3

878270141844. 4



Question Number : 2 Question Id : 87827036078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of gitls of school B who scored between 90 - 95 % marks is approximately
% of the number of girls of school D Who scored 95% and above marks.

(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :

878270141845. 1
878270141846. 2
878270141847.3
878270141848. 4

Question Number : 3 Question Id : 87827036079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of bnys of schools E and F logelher who scored 95% and above marks 1s appmximal‘el}f
% less than the number of girls of schools B and E together who scored between

90 - 95 % marks.

(1) 24
(2) 26
(3) 20
4 22
Options :

878270141849. 1
878270141850. 2
878270141851. 3
878270141852. 4



Question Number : 4 Question Id : 87827036080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Average numbers of boys who scored between 90 - 95% marks from the schools A - E together is :

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270141853. 1
878270141854. 2
878270141855. 3

878270141856. 4

Question Number : 5 Question Id : 87827036081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of boys of school C who scored between 90 - 95 % marks to the
number of boys who scored %% and above marks in the same school ?

4] &i

(2) 10:17
() 10:13
4 12:17
Options :

878270141857. 1
878270141858. 2
878270141859. 3

878270141860. 4



Question Id : 87827036076 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
el @ T8 fere et o B W (A-F) H e 12 H S (i) 95% 7 SEH aAfers, 7 (i) 90
05% o a1 31 T e T ferafoa o e (%) oo e 37 ereferal oft el o1 97 <
T 95% 1 349 S S WG 0 o 991 90 § 95% o ok T A o foreteqd & g
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TITieh! o SMTeI T ferforert ot fer-ae. foreeen ¢
95V, T SR ik 3f WA R | 90 8 95 3 el 3 I
- aret ferenelt (6000) awet feremlt (10000)
B R i
yfeve L
A 13% 11:5 16% 3:2
B 18% 5.7 6% 1:4
C 17% 3:5 10% 5:3
D 8% 7:1 28% 2:3
E 24% 5:4 2% 9:5
F 20% 5:3 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827036077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1 W F a1 foel i g 7

(1) 115

(2) 120

(3) 110

(4) 105
Options:
878270141841. 1
878270141842. 2
878270141843. 3

878270141844. 4

Question Number : 2 Question Id : 87827036078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e B 1 90 ¥ 95% o af o W F el crgial i1 He Tl D 95% 1 S S o
F 96 A 1 HE F A o Yo & 7
(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :
878270141845. 1
878270141846. 2
878270141847.3

878270141848. 4

Question Number : 3 Question Id : 87827036079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e E S E H 95% 1 39 e T % ATl ekl 1 He el B S E W90 4 95% % a4 4% W
1 a1 et A WeH e foe yiewm a7

1)

) 2
(3) 20
H) 27

Options:

878270141849. 1
878270141850. 2
878270141851. 3

878270141852. 4

Question Number : 4 Question Id : 87827036080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el A T E T 5ol el # 90 §95% % a4 of T o At e o A g fo |7

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270141853. 1
878270141854. 2
878270141855. 3

878270141856. 4

Question Number : 5 Question Id : 87827036081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el C % 90 6 95% o afl 33 W &1 et el o Te SR 31 e o 95% A1 35 A o
I % At el i Hed ST

() 5:9

() 10:17
(3) 10:13

() 12:17
Options:
878270141857. 1
878270141858. 2
878270141859. 3

878270141860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701525
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827036082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“When a pin pricks our finger we withdraw the pin”. Such kind of behaviour is termed as :
1) Emotional Instincts

)

3)  Biological Instincts
4) Intellectual Instincts

E Reflex Actions
[

(

Options :
878270141861. 1
878270141862. 2

878270141863. 3

878270141864. 4

Question Number : 6 Question Id : 87827036082 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

5 1 i Tt et o ot € 9 e i g o €' 3 YR o e 6 e T e
1) YETeHF T A

Options :

878270141861. 1
878270141862. 2
878270141863. 3

878270141864. 4

Question Number : 7 Question Id : 87827036083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  Problem based leam’mg is a learner centred a‘pproach.

Statement I1: In guided discnver}f learnmg students are encouragecl to construct their
understandmg without the assistance of teacher guided questions and directions

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270141865. 1

878270141866. 2

878270141867. 3



878270141868. 4

Question Number : 7 Question Id : 87827036083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141865. 1
878270141866. 2
878270141867. 3

878270141868. 4

Question Number : 8 Question Id : 87827036084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Teacher centred methods of teaching are more effective than learner centred
methods in promoting deep leamjng.

Statement Il ; Lecture method involves the use of Dpen-ended problems to encourage critical
thjnkjng and problem snlving.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

8782701418609. 1

878270141870. 2

878270141871. 3

878270141872. 4

Question Number : 8 Question Id : 87827036084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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8782701418609. 1
878270141870. 2
878270141871. 3

878270141872. 4

Question Number : 9 Question Id : 87827036085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Mr. Johnson wants to create a mind map for his students to help them understand the concept of
photosynthesis. Which of the following tools would be most suitable ?

(1) Mindmeister

(2
(3
(4

) Edpuzzle

) Nearpod

) Hot potato
Options :
878270141873. 1
878270141874. 2
878270141875. 3

878270141876. 4

Question Number : 9 Question Id : 87827036085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141873. 1
878270141874. 2
878270141875. 3

878270141876. 4

Question Number : 10 Question Id : 87827036086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which DTH channel deals with social science -1, social and behavioural sciences ?
(1) Channel - 02 - Sanskriti

(2) Chhanel - 06 - Vidhik

(3) Channel - 03 - Prabodh

(4) Vhannel - 05 - Prabandhan

=y

Options:

878270141877. 1
878270141878. 2
878270141879. 3

878270141880. 4

Question Number : 10 Question Id : 87827036086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270141877. 1
878270141878. 2
878270141879. 3

878270141880. 4

Question Number : 11 Question Id : 87827036087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Identify the advantages of close-ended questions in survey research :

(A) They allow unusual responses to be derived.

(B) It is easy to process their answers.

(C) They reduce the possibility of variability in the recording of answers.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (B)and (C) Only
(3) (A) and (C) Only
(4) (A), (B) and (C)

Options :

878270141881. 1
878270141882. 2
878270141883. 3

878270141884. 4

Question Number : 11 Question Id : 87827036087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) Fad (A) ¥R (B)

(2) I (B) 3R (C)

(3) A (A) ¥R (Q)

4) (A), () 3R (O

Options:

878270141881. 1
878270141882. 2
878270141883. 3

878270141884. 4

Question Number : 12 Question Id : 87827036088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A researcher gives the following options to a respondent while asking a question during a survey.
[dentify the options which suffer from ambiguity :

(A) Very often

(B) Quite often

(C) Not very often

(D) Not at all

Choose the correct answer from the options given below :

() () (8)and (C) Only

®) ®) (0 and (D) Onl

(3) (A), (C) and (D) Only
@ (A) (B (O and D
Options :

878270141885. 1



878270141886. 2
878270141887. 3

878270141888. 4

Question Number : 12 Question Id : 87827036088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 1 % S T SR 9 TS W S el o e fofian foemen S €1 A foered o
e FITIT oW Serieral T et |

Options :

878270141885. 1
878270141886. 2
878270141887. 3
878270141888. 4

Question Number : 13 Question Id : 87827036089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the advantages of content analysis :
(A) It is a very transparent research method.

(B) It is often referred to favourably as an unobtrusive method.
(C) Itis a highly flexible method.

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A)and (C) Only

(4) (A), (B) and (C)

Options:

878270141889. 1

878270141890. 2

878270141891. 3

878270141892. 4

Question Number : 13 Question Id : 87827036089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141889. 1

878270141890. 2



878270141891. 3

878270141892. 4

Question Number : 14 Question Id : 87827036090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When two variables are related in such a way that when one increases, so does the other, you can
conclude that :

(I)  There is no problem with directionality.

(2)  The two variables are positively associated.

(3)  There are no latent variables affecting the relationship.

(4)  There is a third variable responsible for the causation between them.
Options :

878270141893. 1

878270141894. 2

878270141895. 3

878270141896. 4

Question Number : 14 Question Id : 87827036090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141893. 1



878270141894. 2
878270141895. 3

878270141896. 4

Question Number : 15 Question Id : 87827036091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the measures of dispersion :

(A) Range

(B) Quartile deviation

(C) Sum of the deviations about mean

(D) Standard deviation

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3)  (A), (B) and (D) Only
4) (A), (C) and (D) Only

Options :

878270141897. 1
878270141898. 2
878270141899. 3
878270141900. 4

Question Number : 15 Question Id : 87827036091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141897. 1
878270141898. 2
878270141899. 3
878270141900. 4

Question Number : 16 Question Id : 87827036092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process by whicha messageis transmitted via some form of medium 1s identified as
communication :

(1) Formative

(2) Inter-connective
(3) Mediated

(4) Formal
Options :
878270141901. 1
878270141902. 2
878270141903. 3

878270141904. 4



Question Number : 16 Question Id : 87827036092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ sk foreh g Foell e a1 fopell W o W1 9 W e v €, 9 A &
& ¥ TEEH 9 ¢

(1) T

2)  SAR-HA

3
4

13

)
)
)
) T
Options :

878270141901. 1
878270141902. 2
878270141903. 3

878270141904. 4

Question Number : 17 Question Id : 87827036093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In analng media, contents are :
(1) Non-linear

(2) Linear

(3) Interactive

(4) Customised
Options:

878270141905. 1
878270141906. 2
878270141907. 3

878270141908. 4



Question Number : 17 Question Id : 87827036093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141905. 1
878270141906. 2
878270141907. 3
878270141908. 4

Question Number : 18 Question Id : 87827036094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The western communication concept is characterised by :
(A) Polydirectionality

(B) Unidirectionality

(C) Transfer of meaning

(D) Message centredness

(E) Flexible sequencing

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (E) Only
(3) (A), (B) and (E) Only
(4) (B), (C) and (D) Only

Options:



8782701419009. 1
878270141910. 2
878270141911. 3

878270141912. 4

Question Number : 18 Question Id : 87827036094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701419009. 1

878270141910. 2

878270141911.3

878270141912. 4

Question Number : 19 Question Id : 87827036095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [;  Due to technolngical developments, communication has become mass
communicahon,

Statement I1:  With the arrival of satellites and computers, communication has become more
efficient and complex than ever before.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270141913. 1

878270141914. 2

878270141915. 3

878270141916. 4

Question Number : 19 Question Id : 87827036095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141913. 1

878270141914. 2



878270141915. 3
878270141916. 4

Question Number : 20 Question Id : 87827036096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  Environmental communication includes human representation of nature.

Statement Il For the purpose of promoting environmental communication, only mainstream
conventional media should be employed.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270141917. 1

878270141918. 2

878270141919. 3

878270141920. 4

Question Number : 20 Question Id : 87827036096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141917. 1

878270141918. 2

878270141919. 3

878270141920. 4

Question Number : 21 Question Id : 87827036097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Certain books are bought at prices ranging from 400 to T 500 per book and are sold at prices
ranging from ¥ 500 to ¥ 700 per book. Find the greatest possible profit that might be made in selling
10 books.

(1) %4000

(2) 3000

(3) ¥ 3800

(4) 7000
Options :
878270141921. 1
878270141922. 2
878270141923. 3

878270141924. 4



Question Number : 21 Question Id : 87827036097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) T 4000

(2) 3000
(3) 3800
(&) 7000
Options :
878270141921. 1
878270141922. 2
878270141923. 3

878270141924. 4

Question Number : 22 Question Id : 87827036098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A woman, while infroducing a man, says “His wife is the only daughter of my father”. How is that
man related to the woman ?

(1) Father in law

(2
3
(

) Brother in law
) Husband

4)  Brother
Options:
878270141925. 1
878270141926. 2
878270141927. 3

878270141928. 4



Question Number : 22 Question Id : 87827036098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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878270141925. 1
878270141926. 2
878270141927. 3

878270141928. 4

Question Number : 23 Question Id : 87827036099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
1,3,2,5,3,7,49:5,11,6 137

1) 15
2) 7
(3) 19
4) 8
Options:

878270141929. 1
878270141930. 2
878270141931. 3

878270141932. 4



Question Number : 23 Question Id : 87827036099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A & TE gEen § yyEre g ((7) i gioenfta s G el Te a w2
1,3,2,53,7,4,9,511,6,13 7

(I) 15
(2) 7
(3 19
(4) 8
Options :

878270141929. 1
878270141930. 2
878270141931. 3
878270141932. 4

Question Number : 24 Question Id : 87827036100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain code :

(a) 3245 means "you must study hard’

(b) 567" means ‘hard work pays’

(c) 614" means ‘work and study’

Which of the following are the codes for ‘pays’ and "work” respectively ?

Choose the correct answer from the D]Jtii.‘ll'lS given below :

(1) 1&5
(2) 5&6
(3 7&6
4 4&5
Options:

878270141933. 1



878270141934. 2
878270141935. 3

878270141936. 4

Question Number : 24 Question Id : 87827036100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(1) 1315
(2) 53R6
(3) 7#R6
(4) 43R5
Options :

878270141933. 1
878270141934. 2
878270141935. 3

878270141936. 4

Question Number : 25 Question Id : 87827036101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policeman goes 20 meters towards South and then tums to his right and walks 40 meters. He
again turns to his left and walks 10 meters. How far is he now from his starting point ?

(1) 37.5 meters

2) 50 meters

2
(3) 3042 meters
4)

4) 40 meters

Options:

878270141937. 1
878270141938. 2
878270141939. 3

878270141940. 4

Question Number : 25 Question Id : 87827036101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 375

(2) 50"

(3) 3042 T

(4) 40 "

)
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Options :

878270141937. 1
878270141938. 2
878270141939. 3
878270141940. 4

Question Number : 26 Question Id : 87827036102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

If the statement - “No professors are materialists” is given as true, then which of the fo]lowmg
statements could be inferred to be true ?

(I)  All professors are materialists.

(2) Some professors are materialists.

(3) Some professors are not materialists.
(4)  Some materialists are professors.
Options :

878270141941. 1

878270141942. 2

878270141943. 3

878270141944. 4

Question Number : 26 Question Id : 87827036102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141941. 1

878270141942. 2

878270141943. 3

878270141944. 4

Question Number : 27 Question Id : 87827036103 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement- “No professors are
materialists” ?

(I) Some non-materialists are not non-professors

(2) Some professors are non-materialists

(3)  All professors are non-materialists

(4)  All non-materialists are non-professors

Options :

878270141945. 1

878270141946. 2

878270141947. 3

878270141948. 4

Question Number : 27 Question Id : 87827036103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141945. 1
878270141946. 2
878270141947.3

878270141948. 4

Question Number : 28 Question Id : 87827036104 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they cannot both be true, although they
can both be false ?

(A) No professors are materialists

(B) Some professors are materialists

(C) Al professors are materialists

(D) Some professors are not materialists

Choose the correct answer from the options given below :

(1) (A)and (C) Only

() (B)and (D) Only
(3 (B)and (C) Only
(4) (A) and (D) Only
Options :

878270141949. 1
878270141950. 2
878270141951. 3

878270141952. 4

Question Number : 28 Question Id : 87827036104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141949. 1
878270141950. 2
878270141951. 3

878270141952. 4

Question Number : 29 Question Id : 87827036105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"To solve our transportation problems, we have to put more money into production of bicycles.
The CEO of ABCD Company limited says so. “Which of the following fallacy is committed in the
above argument ?

(I) Slippery Slope

(2) Appeal to Inappropriate Authority

(3) Ad Hominem
(

) Hasty Generalisation

ey

Options :
878270141953. 1

878270141954. 2



878270141955. 3

878270141956. 4

Question Number : 29 Question Id : 87827036105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270141953. 1
878270141954, 2
878270141955. 3

878270141956. 4

Question Number : 30 Question Id : 87827036106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of logic (Nyaya) which fallacy is commutted in the following
statement ?

“The sky rose is fragrant, because it is a rose like the rose on the earth”.

) Asidhrana

) Badhita
3)  Viruddha
)

ﬁﬁra}f{l siddha

2

(
(
G
(¢

Options :



878270141957. 1
878270141958. 2
878270141959. 3

878270141960. 4

Question Number : 30 Question Id : 87827036106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141957. 1
878270141958. 2
878270141959. 3

878270141960. 4

Question Number : 31 Question Id : 87827036107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion are incorrectly matched ?
(1)  LED - Light Emitting Diode

) CRT - Cathode Ray Tube

) LCD - Liquid Control Display

) VDU - Video Display Unit

Options :



878270141961. 1
878270141962. 2
878270141963. 3

878270141964. 4

Question Number : 31 Question Id : 87827036107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141961. 1
878270141962. 2
878270141963. 3

878270141964. 4

Question Number : 32 Question Id : 87827036108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Businesses use ICT to build positive customer relations by :
(1) Calling customers at home
) Creating targeted marketing campaigns
3) Placing pop-up advertisements on web sites
) Sending unsolicited e-mails
Options :

878270141965. 1



878270141966. 2
878270141967. 3

878270141968. 4

Question Number : 32 Question Id : 87827036108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141965. 1
878270141966. 2
878270141967. 3
878270141968. 4

Question Number : 33 Question Id : 87827036109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement [ : (25)1{,j = (00100101)2
Statement 11 (00[}11[}11]2 & (18)1@

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

8782701419609. 1

878270141970. 2

878270141971. 3

878270141972. 4

Question Number : 33 Question Id : 87827036109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141969. 1

878270141970. 2

878270141971. 3



878270141972. 4

Question Number : 34 Question Id : 87827036110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are true ?
(A) BIOS is an example of Application Software
(B) A utfility software is an example of firmware
(C) Spyware is an example of malware

Choose the correct answer from the options given below :
(1) (A) Only

(2) (B) Only

(3) (C) Only

(4) (B) and (C) Only

Options :

878270141973. 1

878270141974. 2

878270141975. 3

878270141976. 4

Question Number : 34 Question Id : 87827036110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141973. 1
878270141974. 2
878270141975. 3

878270141976. 4

Question Number : 35 Question Id : 87827036111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding guided and unguided media in computer Networking
are correct ?

(A) Guided media transmission supports higher data speeds than unguided media transmission
(B) Guided media is subjected to less interference than unguided media

(C) Unguided media transmission is more secure than guided media transmission

Choose the correct answer from the options given below :

() (A)and (B) Only

(2) (A)and (C) Only

(3 (B) and (C) Only

(4) (A), (B) and (C)

Options :

878270141977. 1

878270141978. 2



878270141979. 3
878270141980. 4

Question Number : 35 Question Id : 87827036111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270141977. 1
878270141978. 2
878270141979. 3

878270141980. 4

Question Number : 36 Question Id : 87827036112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the fD]lDWiJ‘lg statements are true about hardness in water ?
[t 1s caused b:.; ions of calcium and magnesium

(
(B) It is of two types-temporary and permanent

(C) Permanent hardness can easily be removed by heating the water
(D) Hardness causes scales in hot water pipe systems

(E) Hardness decreases the soap consumption

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2)  (A), (B) and (D) Only
3)  (B), (©) (D) and (E) Only
4) (Q), (D) and (E) Only
Options:

878270141981. 1
878270141982. 2
878270141983. 3

878270141984. 4

Question Number : 36 Question Id : 87827036112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



51 T ARl & faua o #F 9 FoH 9o €7

(A) 7€ FArmEm agn FAREY % TEET 6 RO B ¢ |
(B) IE Tl T8 ol Il o Tl a9 T |

(C) T i TR FIRAT 5 hl TWH F AT § G HT T bl B |
(D) & TSIE 9IE9 JOTel § q9el el S € |

(E) ¥ THEA ! TUd FI FH FHI ¢ |

A feu o fasredl # 9 WE SO H = FE

(1) 5 (A), (B), (O) ¥R (D)

(2) %= (A), (B) 3R (D)

(3) %9 (B), (C), (D) 3 (E)

(4) ¥ (C), (D) ¥R (B)

Options :

878270141981. 1

878270141982. 2

878270141983. 3

878270141984. 4

Question Number : 37 Question Id : 87827036113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the full form of CBOD ?

(1) Comparative Biochemical Oxygen Demand
2
(3) Carbonaceous Biochemical Oxygen Demand
(4) Classified Biochemical Oxygen Demand

Common Biochemical Oxygen Demand

Options :

878270141985. 1
878270141986. 2
878270141987. 3

878270141988. 4



Question Number : 37 Question Id : 87827036113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141985. 1
878270141986. 2
878270141987. 3

878270141988. 4

Question Number : 38 Question Id : 87827036114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  RSPM are those suspended particulate matters (SPM) whose aerodynamic
diameter is more than 10 micron,

Statement I :  Fine particles are those SPM whose aerodynamic diameter is less than 2.5 micron.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct
Options:

878270141989. 1



878270141990. 2
878270141991. 3

878270141992. 4

Question Number : 38 Question Id : 87827036114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141989. 1

878270141990. 2

878270141991. 3

878270141992. 4

Question Number : 39 Question Id : 87827036115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the followjng is 1'espnnsible for the negative radiative [orcing or moling of the
atmosphere ?

(I) Water vapour
(2
i
(4

Tmpospheric Ozone

]

; Stratospheric Ozone
) Black carbon
Options :
878270141993. 1
878270141994. 2
878270141995. 3

878270141996. 4

Question Number : 39 Question Id : 87827036115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) HHEEr S
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(4) T FH
Options :

878270141993. 1
878270141994. 2
878270141995. 3
878270141996. 4

Question Number : 40 Question Id : 87827036116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Montreal pmtocol is a multi-lateral environmental agreement that regulates the
pmduction and consumption of neaﬂy 100 man made chemicals.

Statement I :  Montreal protocal is an international treaty designed to protect the environment,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

878270141997. 1

878270141998. 2

878270141999. 3

878270142000. 4

Question Number : 40 Question Id : 87827036116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141997. 1



878270141998. 2
878270141999. 3

878270142000. 4

Question Number : 41 Question Id : 87827036117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first Indian Universities Commission (1902) was headed by :

(1) Gurudas Bannerjee

(2) Syed Hasan Bilgrami

(3) William Adam

(4) Thomas Raleigh
Options:
878270142001. 1
878270142002. 2
878270142003. 3

878270142004. 4

Question Number : 41 Question Id : 87827036117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142001. 1

878270142002. 2



878270142003. 3

878270142004. 4

Question Number : 42 Question Id : 87827036118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing were established dur'mg the rule of East [ndia company in [ndia ?

(A) St.Stephen’s College, Delh

(B) Hislop College, Nagpur

(C) Fort William College, Calcutta
(D) Serampore College, Serampore
(E) Poona Sanskrit College, Pune

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3) (A), (B) and (E) Only
4) (C), (D) and (E) Only
Options :

878270142005. 1
878270142006. 2
878270142007. 3

878270142008. 4

Question Number : 42 Question Id : 87827036118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142005. 1
878270142006. 2
878270142007. 3
878270142008. 4

Question Number : 43 Question Id : 87827036119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Committee/Commission) (Chairman)
(A) Scientific Manpower Committee (1947) ()  KL. Shrimali
(B) Committee on Higher Education in rural areas  (II) 5.5. Bhatnagar
(C) Committee on Model Act for universities, 1961 (I} Sunith kumar chatterji
(D) Sanskrit Commission (IV) D.S Kothari

Choose the correct answer from the options given below :
(1) (AHD), (B)-(I), (C-(), (D)-{IV)
(@ (A)HI, B0, (©)-(1v), (D))
(3 (1), (B)(IV), (1), (D)-(I)
( (

(A
) (A )
1) (AHIV), (BHIL), (CHIY, (D))

)
A)-
Options :
878270142009. 1
878270142010. 2
878270142011. 3

878270142012. 4

Question Number : 43 Question Id : 87827036119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A)(D), (B}, (CHIW), (D)-IV)

(2) (A, B)-0), (CH1V), (DHI)
() (AR, BHIV), (OAD), (D}I)
(4)  (ARIV), (B)-(I), (OAH), (D)-0)

Options :

878270142009. 1
878270142010. 2
878270142011.3
878270142012. 4

Question Number : 44 Question Id : 87827036120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  The ancient university of Sridhanya katak was situated on the banks of river
Yamuna.

Statement II :  Sridhanya katak attained celebrity as the seat of both Brahmanical and Buddhist
learning during the time of Siddha Nagarjuna.

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270142013. 1

878270142014. 2

878270142015. 3

878270142016. 4

Question Number : 44 Question Id : 87827036120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142013. 1



878270142014. 2
878270142015. 3

878270142016. 4

Question Number : 45 Question Id : 87827036121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 1948, under whose chaipersonship a University Commission was appointed with the purpose
of reconstruction of university education to meet the demand for scientific, technical and other
manpower needed for the socio-economic development of the country ?

(1) Dr. Zakir Husain

(2) Dr. 5 Radhakrishnan

(3) Dr. AL Mudaliar

(4) Dr. DS. Kothari

Options :

878270142017. 1

878270142018. 2

878270142019. 3

878270142020. 4

Question Number : 45 Question Id : 87827036121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

&1 % YT - Aok fo o fefw bfie ek, TRl qen SR o I A 0 T % few
1948 ¥ e creaegen  foforerers i o vTet o Sgev § fovaforrr s @ fofem & o6 2

(1) @ s g

(2) €. T, T
() @ v e
(4) ¥ g R

Options:



878270142017. 1
878270142018. 2
878270142019. 3

878270142020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701526
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827036122 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage and answer the questions that follow :

Project Tiger turned 50 years recently. An often repeated headline was how the numbers have
increased from 2,967 individuals in 2018 to 3,167 in 2022. This hides the bitter truth : Indians
aren't going to compromise Western lifestyles for the survival of the Tiger. Most middle class Indians
would loathe to give up their second, investment home or driving to the hills on a multilaned
highway for the national animal.

You also can't change the needs of a tiger - it is a large, solitary animal. A female tiger needs
about 15 square kilometres with a good prey base. If she reproduces, those cubs will require
additional space. Data shows 30% of the tigers live outside protected areas, i.e in our midst. The
more we fragment their habitat with urbanization, highways and industrial parks, the more they
will be forced into unprotected areas.

Let's modify our approach. I advocate of three results by the 75th anniversary of project
Tiger. First, instead of endlessly increasing tiger population, India can iden t'Lfy and achieve a metric,
not much higher than the current numbers. Remember, 1000 tigers already roam around in farms
and villages, more will be a disaster. Second, let's better protect what we have. Keeping protected
tiger habitat undisturbed is key. Investment in keeping unprotected ecosystems intact should be
financially viable and part of Corporate Social Responsibility (CSR) and more. Third, reducing
confrontation with humans is essential. Monitoring and communications technology are key to
this. Compensation for live stock killed must be rapidly assessed and pegged to market rates. For
the next quarter century, let's think quality.

Sub questions



Question Number : 46 Question Id : 87827036123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Over the last few years, the population of the tiger has :
(1) Decreased

(2) Remained static

(3) Increased

(4) Declined substantially

Options :

878270142021. 1

878270142022. 2

878270142023. 3

878270142024. 4

Question Number : 47 Question Id : 87827036124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An increase in tiger population will result in :

(1) Tigers killing each other

(2) Tigers dying

(3) Tigers posing a threat to the farms and villages nearly
(4) Tigers eating their own cubs

Options :

878270142025. 1

878270142026. 2

878270142027. 3

878270142028. 4

Question Number : 48 Question Id : 87827036125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“The bitter truth” refers to :

(1) Tigers living outside protected areas
(2) Human killing tigers

(3) The conflicting needs of human beings and tigers
(4) Tigers killing human beings

Options :

878270142029. 1

878270142030. 2

878270142031. 3

878270142032. 4

Question Number : 49 Question Id : 87827036126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the wiiter, one of the aims of project Tiger in the next quarter century should be :
(1) Increasing tiger population

(2) Training the tigers to live in a contained area

(3)  Protecting the existing tiger population

(4)  Ensuring that the government stops building highways
Options:

878270142033. 1
878270142034. 2
878270142035. 3
878270142036. 4

Question Number : 50 Question Id : 87827036127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the writer, the 75 Anniversary of project Tiger should not aim at the following :
(A) Keep the protected habitats infact

(B) Keep the tiger population about the same as at present

(C) Live stock killed by tigers should be adequately compensated for

(D) Focus on quantity instead of quality

Choose the correct answer from the options given below :

(1) (A)and (B) Only

@) () (C) and (D) Only

(3) (C) and (D) Only

4 () Only

Options :

878270142037. 1
878270142038. 2
878270142039. 3

878270142040. 4

Question Id : 87827036122 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Question Number : 46 Question Id : 87827036123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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878270142021. 1
878270142022. 2
878270142023. 3

878270142024. 4

Question Number : 47 Question Id : 87827036124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270142025. 1
878270142026. 2
878270142027. 3
878270142028. 4

Question Number : 48 Question Id : 87827036125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270142029. 1
878270142030. 2
878270142031. 3

878270142032. 4

Question Number : 49 Question Id : 87827036126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142033. 1
878270142034. 2
878270142035. 3

878270142036. 4

Question Number : 50 Question Id : 87827036127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142037. 1
878270142038. 2

878270142039. 3

878270142040. 4

Electronic Science

Section Id : 878270877
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 8782701527
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827036128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The most common kind of area defect found in silicon is the and it always occur along
__ plane.

) Stacking fault, 111

) Extrinsic fault, 110

)

)

(
W
&
(

Stacking fault, 100
Extrinsic fault, 111
Options :
878270142041. 1
878270142042. 2
878270142043. 3

878270142044. 4

Question Number : 51 Question Id : 87827036128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The most common kind of area defect found in silicon is the and it always occur along
___plane,

(I) Stacking fault, 111

(2) Extrinsic fault, 110

(3) Stacking fault, 100

(4)  Extrinsic fault, 111

Options :
878270142041. 1

878270142042. 2



878270142043. 3
878270142044. 4

Question Number : 52 Question Id : 87827036129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An important figure of merit for microwave application of Schottky diode is forward bias cut off
frequency {,, and is given by :

1
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1
O
|
B 2mRC
|
W Rl
Options :

878270142045. 1
878270142046. 2
878270142047. 3

878270142048. 4

Question Number : 52 Question Id : 87827036129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



An important figure of merit for microwave application of Schottky diode is forward bias cut off
frequency [, and is given by :

|
U orRdc
|
g L
9 i

1
B 2mRC
1
B i
Options:

878270142045. 1
878270142046. 2
878270142047. 3
878270142048. 4

Question Number : 53 Question Id : 87827036130 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In MOSFET, the carrier velocity between constant mobility regime and the saturation velocity can
be described as :
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Options:

878270142049. 1
878270142050. 2
878270142051. 3
878270142052. 4

Question Number : 53 Question Id : 87827036130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In MOSFET, the carrier velocity between constant mobility regime and the saturation velocity can
be described as :

P
I/n
3 n
(D) |1+ bak
Ve
E
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g
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Options:

878270142049. 1
878270142050. 2
878270142051. 3
878270142052. 4

Question Number : 54 Question Id : 87827036131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In a MOS structure the ¢, is the work function of metal and ¢, is the work function of
semiconductor than the flat band voltage is :

(1) byt

@) 20+,
(] me & (bs
(4) 2050

Options:

]

878270142053. 1
878270142054. 2
878270142055. 3

878270142056. 4

Question Number : 54 Question Id : 87827036131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a MOS structure the ¢, is the work function of metal and ¢, is the work function of
semiconductor than the flat band voltage is :

(1) &yt
@) 20+,
3) %nm¢s
() 205
Options :

878270142053. 1
878270142054. 2
878270142055. 3
878270142056. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When exposed to light, the positive resists in developer solution responds by becoming :
(1) insoluble

(2) highly insoluble
(3) partially soluble
(4) moresoluble
Options:

878270142057. 1
878270142058. 2
878270142059. 3

878270142060. 4

Question Number : 55 Question Id : 87827036132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When exposed to light, the positive resists in developer solution responds by becoming :
(1) insoluble

(2) highly insoluble

(3) partially soluble

(4) moresoluble

Options :

878270142057. 1

878270142058. 2

878270142059. 3

878270142060. 4

Question Number : 56 Question Id : 87827036133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Czochralaski (Cz) method is used instead of using float zone technique to grow Si crystal because
it produces :
(1)  defect free crystal

(2) large diameter crystal
(3)  uniform crystal
(4) small diameter crystal

Options:

878270142061. 1
878270142062. 2
878270142063. 3

878270142064. 4

Question Number : 56 Question Id : 87827036133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Czochralaski (Cz) method is used instead of using float zone technique to grow Si crystal because
it produces :
(1) defect free crystal

(2) large diameter crystal
(3)  uniform crystal
(4) small diameter crystal

Options :

878270142061. 1
878270142062. 2
878270142063. 3

878270142064. 4

Question Number : 57 Question Id : 87827036134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When silicon dioxide of thickness d is grown, the Silicon consumed is :

(1) 033d
2) 044d
(3) 0.55d
(4) 066 d
Options:

878270142065. 1
878270142066. 2
878270142067. 3

878270142068. 4

Question Number : 57 Question Id : 87827036134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When silicon dioxide of thickness d is grown, the Silicon consumed is :

(1) 033d
2) 044d
(3) 0.55d
(4) 066 d
Options :

878270142065. 1
878270142066. 2
878270142067. 3
878270142068. 4

Question Number : 58 Question Id : 87827036135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The evaporation rate from a clean surface is related to the equi]ibrium vapour pressure Pe of the
evaporating species of molecular weight M by an expression :

1) R=44x10" MJPE

@) R=443x10°° ]
1/2

3 X —| Pe

(3) R=443x10° [R;] P

@ R=443x w‘ﬁ(

Options:

878270142069. 1
878270142070. 2
878270142071.3

878270142072. 4

Question Number : 58 Question Id : 87827036135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The evaporation rate from a clean surface is related to the equi]ibrium vapour pressure Pe of the
evaporating species of molecular weight M by an expression :

M
R =443x 104[ JP
(1) T

2
Pe

7
]1 g
|

0 R=tox1rt| 2
i

| =

W R= 43x 107

6 R= 44%(104[
( Pe

—| =



Options :

878270142069. 1
878270142070. 2
878270142071.3
878270142072. 4

Question Number : 59 Question Id : 87827036136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Fourier transform of the fn]lnwmg time domain functon is :
A
I

(1)

N
Yan
-

() L

(3)
(4) T
Options :

878270142073. 1
878270142074. 2
878270142075. 3

878270142076. 4



Question Number : 59 Question Id : 87827036136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Fourier transform of the fnllnwi_ng time domain functon is :
A

I

X
A
. I\
( (e
A
N r .H. j
( [13]
{3} M
(M) SN
(4) T
Options :

878270142073. 1



878270142074. 2
878270142075. 3

878270142076. 4

Question Number : 60 Question Id : 87827036137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The T—paramel‘ers for the fDllDWi_ng cascaded network 1s :

WA AMA—
20) 4 Q) 40 | 80

10 0 %20!1
o O
_[178 2580
M "Tlois 332
_[125 45230
2 "Tlies 458
_[165 202307
@ Tl 658 |

72 1634

. =
(4) 235 4.3

Options :

878270142077. 1
878270142078. 2
878270142079. 3
878270142080. 4

Question Number : 60 Question Id : 87827036137 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The T—para.mel‘ers for the fDllDwi_ng cascaded network is :

—MA—T—AM WM AMA—2
2§} 4 () 40 | 80

élﬂﬂ §2Dﬂ

= )
_[178 25840
M "Tlois 332
_[125 45230
(2 "Tl1e5 458
_[165 202307
@ "Tlios 658 |
_[72 1630
@ "T|235 43
Options :

878270142077. 1
878270142078. 2
878270142079. 3
878270142080. 4

Question Number : 61 Question Id : 87827036138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The value of the unknown node mltage Vl in the fnlluwmg circuit is :

4 Q)

Referance node

() V=23V
(2) V,=1071V
(3) V,=0.98V
4) V=634V
Options:

878270142081. 1
878270142082. 2
878270142083. 3

878270142084. 4

Question Number : 61 Question Id : 87827036138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The value of the unknown node mltage Vl in the fnlluwmg circuit is :

4 Q)

Referance node

() V=23V
(2) V,=1071V
(3) V,=0.98V
4) V=634V
Options:

878270142081. 1
878270142082. 2
878270142083. 3

878270142084. 4

Question Number : 62 Question Id : 87827036139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following represents an ideal current source(es) and ideal voltage source(es)
behaviour ?

) “ vy
|
1 I F 3
)
>V
»V
() (VS)
I 1
AR AVAN
»V >V
() (vS)
I
A ]
A
(4
>V >
(CS) (VS)
Options :

878270142085. 1
878270142086. 2
878270142087. 3
878270142088. 4



Question Number : 62 Question Id : 87827036139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which of the following represents an ideal current source(es) and ideal voltage source(es)
behaviour ?

© A
I
1 I -~
(2)
>V
>V
() (V9)
[ I
A A
[ N
>V >V
(C5) (VS)
I
A ]
A
(4)
>V »
(C5) (VS)
Options :

878270142085. 1



878270142086. 2
878270142087. 3

878270142088. 4

Question Number : 63 Question Id : 87827036140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The output voltage (V,) of the converter (IC 9400) is related to the input frequency (F, ) by the
equation :
) v=V_.C R_F

o 'ref “ref Dint i

F

11

P
(] A Vre.f'cref'Rint

B Yo e
Rint " Cref

n V.= Cret '\F'mt iy

ref

Options :

878270142089. 1

878270142090. 2

878270142091. 3

878270142092. 4

Question Number : 63 Question Id : 87827036140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The output voltage (V) of the converter (IC 9400) is related to the input frequency (F, ) by the
equation :

VeV C Rk

ret “ref Tt Tm

F

111

2 B
T Viet * Crot ' Ring

) V.= Vref 'F'm
: 0
( ) Rint'cref

V _ Cret Rint By
@ Ty

ref
Options:
878270142089. 1
878270142090. 2
878270142091. 3

878270142092. 4

Question Number : 64 Question Id : 87827036141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For a inverting comparator circuit acting as a Schmitt Trigger, as shown in figure below, the
expression of Hysteresis Voltage (V) is given by :

+V(_-(_~

Ri11Ry \k
W +
T 741 3V{}
Vo 11
£y

- Vi
M

Ry v

v
(1) Vny =Ryl Vgt = (Vg

R
2) Vn}r :R_; [+ Veat =( - Vaat ]]

B s :
B Yoy =F1R?_+Vsat g
Ry - :
(4) Vny = R, +1Rq _+Vsat ~{Viat ]

Options:

878270142093. 1
878270142094. 2
878270142095. 3

878270142096. 4

Question Number : 64 Question Id : 87827036141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For a inverting comparator circuit acting as a Schmitt Trigger, as shown in figure below, the
expression of Hysteresis Voltage (V) is given by :

+ VCC

Ri11Ry \k
VWY T
+ :IVO

& m “VEF gRL
W
SR v

)
(1) V Yy~ Rl[ ¥ - Vsat)]

R
(2) Vny R;[ sat (Vsat]]

R

0 Vi =m:+%t ~( Vi)

R, ;
(4) Vny = R, +1R2 _+Vsat ~{Viat ]

Options:

878270142093. 1
878270142094. 2
878270142095. 3

878270142096. 4

Question Number : 65 Question Id : 87827036142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a FET based phase shift oscillator, what should be the value of capacitor (C) for oscillator
operation at 1 kHz. The resistor (R) in the feedback network is 20 k(.

() 625%x107°F

() 65%1077F
(3) 325x1073F
(4) 325x107°F

Options :



878270142097. 1
878270142098. 2
878270142099. 3

878270142100. 4

Question Number : 65 Question Id : 87827036142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a FET based phase shift oscillator, what should be the value of capacitor (C) for oscillator
operation at 1 kHz. The resistor (R) in the feedback network is 20 k(0.

() 625%x107°F

) 65x107°F

(3) 3.25x1073F

(4) 325x1077F

s |

Options :

878270142097. 1
878270142098. 2
878270142099. 3

878270142100. 4

Question Number : 66 Question Id : 87827036143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Calculate the current [ through each of the transistor Q, and Q; in the circuit given below :
+6V

[control l [

Vae,=Vee,=Vee,= Ve

V=07V

1k

Options:

878270142101.1
878270142102. 2
878270142103. 3

878270142104. 4

Question Number : 66 Question Id : 87827036143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Calculate the current [ through each of the transistor Q, and Q; in the circuit given below :
+6V

[control l [

Vae,=Vee,=Vee,= Ve

V=07V

1k

Options:

878270142101.1
878270142102. 2
878270142103. 3

878270142104. 4

Question Number : 67 Question Id : 87827036144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If (1235), = (3033), , where x and y indicate the bases of the corresponding numbers, then :
(1) x=5andy=3
(2) x=7andy=>
(3) x=8and y=6
4) x=9and y=7

Options :



878270142105. 1
878270142106. 2
878270142107. 3

878270142108. 4

Question Number : 67 Question Id : 87827036144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If (1235),=(3033), , where x and y indicate the bases of the corresponding numbers, then :

if!

(1) x=5and y=3
(2) x=7andy=5
(3) x=8and y=6
(4) x=9and y=7
Options :

878270142105. 1
878270142106. 2
878270142107. 3

878270142108. 4

Question Number : 68 Question Id : 87827036145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ina K FF,if |=Q and K=1 (see figure). Assuming the flip flop was initially cleared and then

clocked for 6 pulses, the sequence at the Q output will be :

Q—1 Q-
1—K O
(1) 010000
(2) 011001
(3) 010010
(4) 010101
Options:

878270142109. 1
878270142110. 2
878270142111. 3
878270142112. 4

Question Number : 68 Question Id : 87827036145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ina K FF,if ]=Q and K=1 (see figure). Assuming the flip flop was initially cleared and then

clocked for 6 pulses, the sequence at the Q output will be :

Q4] Q—
1—K QO
(1) 010000
(2) 011001
(3) 010010
(4) 010101
Options :

878270142109. 1
878270142110. 2

878270142111. 3



878270142112. 4

Question Number : 69 Question Id : 87827036146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Boolean function Y= AB +CD is to be realized using only 2-input NAND gates. The minimum
number of gates required are :

(L) 2
(2) 3
3 4
4 5
Options :

878270142113. 1
878270142114. 2
878270142115. 3

878270142116. 4

Question Number : 69 Question Id : 87827036146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Boolean function Y = AB +CD s to be realized using only 2-input NAND gates. The minimum
number of gates required are :

(h) 2
(2) 3
3 4
4 5
Options :

878270142113. 1
878270142114. 2

878270142115. 3



878270142116. 4

Question Number : 70 Question Id : 87827036147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The simplification in minimal sum of product (sop) of using K-map is :

Y=F(A, B, C, D)
=3(0,2.3,6,7)+3(8,10,11,15)

m

(1) Y=AC+BD'

(2) Y=AC+BD
(3) Y=A'C'+B'D
(4) Y=A'C+BD'
Options :

878270142117.1
878270142118. 2
878270142119. 3

878270142120. 4

Question Number : 70 Question Id : 87827036147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The simplification in minimal sum of product (sop) of using K-map is :

Y=F(A, B, C, D)
=3(0,2, 3,,6,?]+'§(8, 10,11,15)
m

(1) Y=AC+BD'
(2) Y=AC +BD'
(3) Y=A'C'+BD
(4) Y=AC+BD'

Options :



878270142117. 1
878270142118. 2
878270142119. 3

878270142120. 4

Question Number : 71 Question Id : 87827036148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

How many conditional flags are there in the program status word register (psw) in the microcontroller

8051 ?

(1) Two
)

(
6
(

) Four
) Five
4)
Options :
878270142121. 1
878270142122. 2
878270142123. 3

878270142124. 4

Question Number : 71 Question Id : 87827036148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

How many conditional flags are there in the program status word register (psw) in the microcontroller
8051 ?

(1) Two

)

(
6
(

) Four

) Five
4

Options :

878270142121. 1



878270142122. 2
878270142123. 3

878270142124. 4

Question Number : 72 Question Id : 87827036149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The address assigned to the 128 bytes RAM space is from 00H to 7FH. What is the correct address
for the bit-addressable area in this space ?

(1) 00-07H

(2) 10-17H
(3) 18-1FH
(4) 20-2FH

s

Options :

878270142125. 1
878270142126. 2
878270142127.3

878270142128. 4

Question Number : 72 Question Id : 87827036149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The address assigned to the 128 bytes RAM space is from 00H to 7FH. What is the correct address
for the bit-addressable area in this space ?

(1) 00-07H

(2) 10-17H
(3) 18-1FH
(4) 20-2FH

]

Options:

878270142125. 1



878270142126. 2
878270142127. 3

878270142128. 4

Question Number : 73 Question Id : 87827036150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following flags remaining undefined after the execution of instruction AAD (ASCII
adjust after division) in the 8086 microprocessor ?

(I) Cany flag

(2)  Sign flag
(3)  Zero flag
(4) Parity flag

Options :

878270142129. 1
878270142130. 2
878270142131.3

878270142132. 4

Question Number : 73 Question Id : 87827036150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following flags remaining undefined after the execution of instruction AAD (ASCII
adjust after division) in the 8086 microprocessor ?

(I) Cary flag

(2) Sign flag
(3)  Zero flag
(4

4)  Parity flag

Options:

878270142129. 1



878270142130. 2
878270142131. 3

878270142132. 4

Question Number : 74 Question Id : 87827036151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What would be the value of register AL after the execution of the following assembly language
program of 8086 ?

AL=53, CL=29

ADDAL, CL

DAA

Options :

878270142133. 1
878270142134. 2
878270142135. 3

878270142136. 4

Question Number : 74 Question Id : 87827036151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What would be the value of register AL after the execution of the following assembly language
program of 8086 ?

AL =53, CL=29

ADDAL, CL

DAA

1
9

(
(
(
(

B |

C
2
C
8

DC)D

)
)
|
y

= o]

Options:

878270142133. 1
878270142134. 2
878270142135. 3
878270142136. 4

Question Number : 75 Question Id : 87827036152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a reflex Klystron :
(1) The loop gain has a magnitude < 1

(2) The loop gain is 1 and phase shift is multiple of =
(3) The loop gain is > 1 and phase shift is multiple of w
(4) The loop gain is 1 and phase shift is multiple of 2w
Options :

878270142137. 1
878270142138. 2
878270142139. 3
878270142140. 4

Question Number : 75 Question Id : 87827036152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

For a reflex Klystron :

(1) The loop gain has a magnitude < 1

(2)

3) The loop gain is > 1 and phase shift is multiple of =
)

(
(4

The lr_'sup gai_n is 1 and phase shift is mulliple of 1

The loop gain is 1 and phase shift is multiple of 2w
Options :

878270142137. 1

878270142138. 2

878270142139. 3

878270142140. 4

Question Number : 76 Question Id : 87827036153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For an X band radar operating at 12 GHz, the value of minimum pulse replication frequency,
which may be used to unambiguous measure the wind velocity in a tornado with a wind speed of
360 km/hour is :

(1) 16kHz
(2) 32kHz
(3) 48kHz
(4) 8kHz
Options :

878270142141.1
878270142142. 2
878270142143. 3

878270142144. 4

Question Number : 76 Question Id : 87827036153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

For an X band radar operating at 12 GHz, the value of minimum pulse replication frequency,
which may be used to unambiguous measure the wind velocity in a torado with a wind speed of
360 km/hour is :

(1) 16kHz

(2) 32kHz
(3) 48 kHz
(4) 8kHz

=y

Options :

878270142141. 1
878270142142. 2
878270142143. 3

878270142144. 4

Question Number : 77 Question Id : 87827036154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In cylindrical coordinates, the Laplace equation holds the following expression :

1 32
(1 vzvzli(a_v]+ia_vzg

popldp) p*ag?
19( av) 2%V

@ VZV:——[P—] .
pdp\ dp) 9Z

2 2

pdpl dp) p* - 0Z
b

g VV=—-=

(4) 72

Options :

878270142145. 1
878270142146. 2

878270142147.3



878270142148. 4

Question Number : 77 Question Id : 87827036154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In cylindrical coordinates, the Laplace equation holds the following expression :

4 32
o =i RS
pdpldp) p° dd
2) VZV:EE[ Q_VW_I_H“_\;’:B
pdpl dp) 9Z
s, 18 V) 10V 3%V
() V“’:'—{P—J*—a—z T
pdpl dp) p* - 0Z
9%V
5 VAV =—=0
(4) 72
Options :

878270142145. 1
878270142146. 2
878270142147.3

878270142148. 4

Question Number : 78 Question Id : 87827036155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For a uniform line charge of 8nc/m lying along the z axis, the electric field at a radius of 3 m from
the uniform line is given by :

() 497a,V/m

(2) %7a V/m

(3) 479a V/m

(4) 279a,V/m

]

Options:

878270142149. 1
878270142150. 2
878270142151.3
878270142152. 4

Question Number : 78 Question Id : 87827036155 Question Type : MCQ Option Shuffling : No
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For a uniform line charge of 8nc/m lying along the z axis, the electric field at a radius of 3 m from
the uniform Line is given by :

() 497a,V/m

() %7a V/m

(3) 479a V/m

(4) 2792 V/m

]

Options :

878270142149. 1
878270142150. 2
878270142151.3

878270142152. 4

Question Number : 79 Question Id : 87827036156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The minimum receivable signal in a radar receiver which has an IF bandwidth of 25 MH and a
9-dB noise figure is : (Take T as 290° K)

(1) 98x107Hw

(2) 6.946x10° 14

(3) 3.29x10° 2y

(4) 1.986x107Bw

Options:

878270142153. 1

878270142154. 2

878270142155. 3

878270142156. 4
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The minimum receivable signal in a radar receiver which has an IF bandwidth of 25 MH and a
9-dB noise figure is : (Take T as 290° K)

(1) 98x107MHw

(2) 6.946x10° 4

() 3.29x10° 2y

(4) 1.986x107Bw

Options :

878270142153. 1

878270142154. 2

878270142155. 3

878270142156. 4

Question Number : 80 Question Id : 87827036157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The peak carrier voltage is 150 V. If the resistor is 200 {} and the modulation index is 0., the total
power in the AM signal is :

(1) 2635w

2 HBw
(3) 6328w
(4) 10598 w

]

Options:

878270142157. 1
878270142158. 2
878270142159. 3

878270142160. 4

Question Number : 80 Question Id : 87827036157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

The peak carrier voltage is 150 V. If the resistor is 200 {) and the modulation index is 0.5, the total
power in the AM signal is :

(1) 2635w

(2 HBw
(3) 6328w
(4) 10598 w

]

Options :

878270142157. 1
878270142158. 2
878270142159. 3
878270142160. 4

Question Number : 81 Question Id : 87827036158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is true ?

(1)  FM has finite number of side bands as well as the carrier

(2) InFM, the total transmitted power always remains constant, but bandwidth increases with
increased depth of modulation

(3) In AM, the amplitude of carties component remains constant

(4)  For eigen values the carrier component of FM waves appear completely

Options:

878270142161. 1

878270142162. 2

878270142163. 3

878270142164. 4

Question Number : 81 Question Id : 87827036158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

Which of the following is true ?

(1)  FM has finite number of side bands as well as the carrier

(2) InFM, the total transmitted power always remains constant, but bandwidth increases with
increased depth of modulation

(3) In AM, the amplitude of carries component remains constant

(4)  For eigen values the carrier component of FM waves appear completely

Options :

878270142161. 1

878270142162. 2

878270142163. 3

878270142164. 4

Question Number : 82 Question Id : 87827036159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The modulation index of an AM wave is given by :

T
15""mﬂx i 1I"Ir'm'n

1y R 2
() (Vi)
2
{2] Ty = (Vmin}
Vmax ~ Vmin
(3) i Vmax ~ Vimin
3 1E||frmanrc + men
{4) = Vmax T 1i";n'u'ﬂ
1E||frmanrc 2= men
Options:

878270142165. 1
878270142166. 2
878270142167. 3
878270142168. 4
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The modulation index of an AM wave is given by :

T
15"’In-a)c i VI'I’L{I‘L

1y R 2
) (Vi)
2
{2] T = (Vmin}
Vmax ~ Vmin
(3) e Vmax ~ Vimin
3 1"‘“rmem + men

s

max ¥+ 1I"In'u'ﬂ

g =

<

max -~ men

Options :



878270142165. 1
878270142166. 2
878270142167. 3

878270142168. 4

Question Number : 83 Question Id : 87827036160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a two transistor model, the value of o + o, is equal to :

{t} =1
(2) <1
(3 =1
4 =-1
Options :

878270142169. 1
878270142170. 2
878270142171. 3
878270142172. 4
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For a two transistor model, the value of o + o, is equal to :

(1) =>1
(2) <1
@) =1
4 =-1
Options :

878270142169. 1
878270142170. 2



878270142171.3

878270142172. 4

Question Number : 84 Question Id : 87827036161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For the circuit given, phase voltageis V, sin
N

ik where V m peak phase voltage.

" T]

o

The value of maximum average output voltage that occurs at a delay angle «=0is given by L

‘ﬁ Vm

(1) —cosa
™
(2) W3 i os
™
0 33 Vi €08
) 2
m 33V, cosa
4
Options :

878270142173. 1
878270142174. 2
878270142175. 3

878270142176. 4
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For the circuit given, phase voltageis V, sin @
N

b where V m peak phﬂse voltage.

" ’['1

e

The value of maximum average output voltage that occurs at a delay angle «=01is given by L

JEE%1

(1) —cosa
™
(2) W3 Vi Cos
™
0 33 Vi €08
] 27
m 33V, cosa
4
Options :

878270142173. 1
878270142174. 2
878270142175. 3

878270142176. 4

Question Number : 85 Question Id : 87827036162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
If any root of the characteristic equation of a system has a positive, impulse response g(t) is

unbounded and E\g('r]\d'r is infinite, then the system is :

(1)  Absolute stable
(2) Marginally stable
(3) Critically stable
(4)  Unstable

Options :

878270142177.1
878270142178. 2
878270142179. 3
878270142180. 4
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If any root of the characteristic equation of a system has a positive, impulse response g(t) is
unbounded and E\g('r]\d'r is infinite, then the system s :

1
2

3
4

(1)  Absolute stable
(2) Marginally stable
(3) Critically stable
(4)  Unstable
Options :
878270142177. 1
878270142178. 2
878270142179. 3

878270142180. 4
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The transfer function of the system shown in the fnllow'mg Iigure 15 :

X(S)
RS 51 @ @

1) G,G,+1

(2) G+G,+1
() GG+ Gyt
4) G,G,+G,+1
Options :
878270142181. 1
878270142182. 2
878270142183.3

878270142184. 4
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The transfer function of the system shown in the fnllowmg Iigure 1S :

X(S)
RS 5 @ o

(1) GG,+1

(2) G+G,+1
() GG+ Gyt
4 G,G,+G,+1

Options:

878270142181. 1



878270142182. 2
878270142183. 3

878270142184. 4
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The mechanical elements that are used to convert the applied forceintoa displacement are called :
(I) Force summing devices

(2)  Force multiplying devices
(3)  Force integrating devices
(4)  Force removing devices
Options :

878270142185. 1
878270142186. 2
878270142187. 3

878270142188. 4
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The mechanical elements that are used to convert the applied forceintoa displacement are called :
(I)  Force summing devices

(2)  Force multiplying devices
(3)  Force integrating devices
(4)  Force removing devices
Options:

878270142185. 1
878270142186. 2

878270142187. 3



878270142188. 4

Question Number : 88 Question Id : 87827036165 Question Type : MCQ Option Shuffling : No
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A current of 300 pA produces FSD in an instrument whose coil resistance is 75 (. What will be the
value of shunt resistors if the instrument is to measure current of 5A ?

(1) 00030 0

(2) 00023 €
(3) 0.0045 Q
(4) 0.0067 Q2
Options :

878270142189. 1
878270142190. 2
878270142191. 3

878270142192. 4
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A current of 300 pA produces FSD in an instrument whose coil resistance is 75 (). What will be the
value of shunt resistors if the instrument is to measure current of 5A ?

(1) 00030 0

(2) 0.0023
(3) 0,004 Q
(4) 0.0067 Q2
Options :

878270142189. 1
878270142190. 2

878270142191. 3



878270142192. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A device used to convert a non-electrical quantity into an electrical signal is called :

(1) Transformer
(2) Oscillator
(3) Transducer
(4) Inverter
Options :

878270142193. 1
878270142194. 2
878270142195. 3

878270142196. 4
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A device used to convert a non-electrical quantity into an electrical signal is called :

) Transtormer
(2) Oscillator
(3) Transducer
(4) Inverter
Options :
878270142193. 1
878270142194. 2
878270142195. 3

878270142196. 4
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The resistor value required to use a 0-1 mA meter with an intemal resistance of 125 () fora 0-1 V
meter will be :

(1) 1903 Q

2

4 1250

@ 5
3) 873 Q
4
Options :
878270142197. 1
878270142198. 2
878270142199. 3

878270142200. 4
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The resistor value required to use a 0-1 mA meter with an interal resistance of 125 () fora 0-1 V
meter will be :

(1) 1983 Q

2

@A
0) 873(1
(4

4 1250

Options :

878270142197. 1
878270142198. 2
878270142199. 3

878270142200. 4
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In MOSFET, the linear region current is :

(A) W—W[Vgs — Vih — %} Vs
(B) ILILnC%(Vg,s ~ Vin ) Vs

© L (Vs ~ Vi V2

O RNy v

Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

4) (A) and (D) Only

Options :

878270142201. 1

878270142202. 2

878270142203. 3

878270142204. 4
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In MOSFET, the linear region current is :

py Coxw [ V.
(A) ____ET__‘[E%S"x&h"‘z%i]\%h

C ’
B) (Vi = Vin) Vas
© T (Vs Vi)V
@) 2 (v v

Choose the most appropriate answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (A) and (D) Only

Options:

878270142201. 1

878270142202. 2

878270142203. 3

878270142204. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The typical voltage transfer characteristics of a realistic nmos invertor are shown in fig, The noise
mal‘gin for low signal and high signal levels are :

AVout

Vou

V =Vin

out

VOL ":."::---- meemedaeaaaa

L)
i

Lo o 5 R ] e S

|
i
i
i
1
i
i
1
|
4
1
i

#
Vi Vio Ve Vi

(A) VitV
(B) V|L VOL
€ Vou=Viy
D) VigtVoy

Choose the most appropriate answer from the options given below :
(1) (A) and (D) Only

(2) (B) and (C) Only

(3) (A) and (C) Only

4) (C)and (D) Only

Options:

878270142205. 1

878270142206. 2

878270142207. 3

878270142208. 4
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The typical voltage transfer characteristics of a realistic nmos invertor are shown in fig, The noise
mal‘gin for low signal and high signal levels are :

AVout

Vou

V =Vin

out

VOL ":."::---- meemedaeaaaa

L)
i

Lo o 5 R ] e S

|
i
i
i
1
i
i
1
|
4
1
i

#
Vi Vio Ve Vi

(A) VitV
(B) V|L VOL
€ Vou=Viy
D) VigtVoy

Choose the most appropriate answer from the options given below :
(1) (A) and (D) Only

(2) (B) and (C) Only

(3) (A) and (C) Only

4) (C)and (D) Only

Options:

878270142205. 1

878270142206. 2

878270142207. 3

878270142208. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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If ZxL is the total channel area and Cpar is the total input parasitic capacitance, then for
microwave performance the cut off frequency can be defined as :

gm
A) 2n(Cop#Cr)

bm
B e,

G
© ey

gm

D) 202Gy +Cope)

Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270142209. 1
878270142210. 2
878270142211. 3

878270142212. 4
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If ZxL is the total channel area and Cpar is the total input parasitic capacitance, then for
microwave performance the cut off frequency can be defined as :

gm
A) 2n(Cop#Cr)

bm
B e,

G
© ey

gm

D) 202Gy +Cope)

Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270142209. 1
878270142210. 2
878270142211. 3

878270142212. 4
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Minimum Instruction Time : 0
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Consider the following statements :
(A) The origin of the punch through phenomena is the lowering of the barrier near the source.

(B) For a long channel device, a drain bias can change the effective channel length, but the
barrier at the source end remains constant.

(C) For a short channel device, this barrier is no longer fixed.
D)

(

(E) The punch through condition normally occurs inside the bulk region of the semiconductor.

The lowering of the source bartier do not cause any injection of extra carriers.

Choose the most appropriate answer from the options given below :
(1) (4), (8) (), (D) Only

(2) (A), (B) and (C) Only

() (B), (), ) Only

(4) (4, (), (D), (E) Only

Options:

878270142213.1
878270142214.2
878270142215.3

878270142216. 4
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Consider the following statements :
(A) The origin of the punch through phenomena is the lowering of the barrier near the source.

(B) For a long channel device, a drain bias can change the effective channel length, but the
barrier at the source end remains constant.

(C) For a short channel device, this barrier is no longer fixed.
(D) The lowering of the source barrier do not cause any injection of extra carriers.
(E)  The punch through condition normally occurs inside the bulk region of the semiconductor.

Choose the most appropriate answer from the options given below :

() (4), (8): (), (D) Only

() (A), (B)and (C) Only
() (), (D) (E) Only
(4) (A, (B), (D), (E) Only



Options :

878270142213. 1
878270142214. 2
878270142215. 3

878270142216. 4

Question Number : 95 Question Id : 87827036172 Question Type : MCQ Option Shuffling : No
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Consider the following statements :

(A) The charge coupled device (CCD) is a linear scanning system
(B) The charge coupled device is a non linear scanning system

(C) A charge coupled devices is used as a shift register

(D) A charge coupled device can not be used as a photo detector
Choose the most appropriate answer from the options given below :
(1) (A) and (C) Only

( () and (C) Only

(3) (C) and (D) Only

(4) (B) and (D) Only

Options:

878270142217.1
878270142218. 2
878270142219.3

878270142220. 4
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Consider the following statements :

(A) The charge coupled device (CCD) is a linear scanning system
(B) The charge coupled device is a non linear scanning system
(C) A charge coupled devices is used as a shift register

(D) A charge coupled device can not be used as a photo detector

Choose the most appropriate answer from the options given below :

(1) (A) and (C) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4)  (B) and (D) Only
Options:

878270142217. 1
878270142218. 2
878270142219. 3
878270142220. 4
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Correct Marks : 2 Wrong Marks : 0



For the circuit given below, which are the correct two equations of Mesh current ?

W |
8 () @ 191V
4q 100V (o 1V

gaf;w@ i ;;,;N@ :M_ém

=150V =4y =
T 3V
(A) 12I,-5l,-4l,= -24

(B) 5I;+18,+6l,= —112

(C) —41,-6l,+18[,= —106
(D)

(

R

D) 2I,+31,-71,=106

E) -3I;+24l,-6l;=116

Choose the most appropriate answer from the options given below :
(1) (B) and (D) Only

(2) (C) and (E) Only
(3) (A)and (C) Only
(4) (D) and (E) Only
Options:
878270142221.1
878270142222. 2
878270142223. 3

878270142224. 4
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For the circuit given below, which are the correct two equations of Mesh current ?

W |
8 () @ 191V
4q 100V (o 1V

gaf;w@ i ;;,;N@ :M_ém

=150V =4y =
T 3V
(A) 12I,-5l,-4l,= -24

(B) 5I;+18,+6l,= —112

(C) —41,-6l,+18[,= —106
(D)

(

R

D) 2I,+31,-71,=106

E) -3I;+24l,-6l;=116

Choose the most appropriate answer from the options given below :
(1) (B) and (D) Only

(2) (C) and (E) Only
(3) (A)and (C) Only
(4) (D) and (E) Only
Options:
878270142221.1
878270142222. 2
878270142223. 3

878270142224. 4

Question Number : 97 Question Id : 87827036174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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In admittance parameters :

(A)  yqq is short circuit input impedance

(B) 1,y 1s Open circuit o/ p admittance

(C)  y,y is short circuit transfer admittance

(D) 1y, is open circuit transfer admittance

(E) vy, and y,, are both short circuit transfer admittances

Choose the most appropriate answer from the options given below :

(1) (A) (©), (E) Only

(2)  (B), (C), (E) Only
(3)  (A), (B), (C) Only
4) (), (D) Only
Options:

878270142225. 1
878270142226. 2
878270142227. 3

878270142228. 4
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In admittance parameters :

(A) vy is short circuit input impedance

(B) ¥y, is open circuit o/p admittance

(C)  y,y is short circuit transfer admittance

(D) 1y, is open circuit transfer admittance

(E) vy, and y,, are both short circuit transfer admittances

Choose the most appropriate answer from the options given below :

(1) (A) (©), (E) Only

(2)  (B), (©), (E) Only
(3)  (A), (B), (©) Only
(4) (), (D) Only

Options :



878270142225. 1
878270142226. 2
878270142227. 3

878270142228. 4

Question Number : 98 Question Id : 87827036175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

From the options given below :

(A) x(t) o(t)=x(0) &(t) if x(t) is continuous at t=0

2
2 %
(B) ,[(St o 1]B“]dt_4 where §(t) is Dirac Delta function
1

(C) x[n]=(-0.5)"u[n] is not an energy signal where, 4[n] is a unit step sequence

(D) t8'(t)=—o(t) where d(t) is Dirac Delta function

(E)  x(t)=t u(t) is neither an energy signal nor a power signal 4(t) is unit step function
Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (A), (D) and (E) Only
(4) (C), (D) and (E) Only
Options :

878270142229. 1
878270142230. 2
878270142231. 3

878270142232. 4

Question Number : 98 Question Id : 87827036175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



From the options given below :

(A) x(t) 8(t)=x(0) &(t) if x(t) is continuous at t=0

2 o
(B) I(St ¥ 1]3“]5“_4 where §(t) is Dirac Delta function
1

(C) x[n]=(-0.5)"u[n] is not an energy signal where, 4[n] is a unit step sequence
(D) to'(t)=—d(t) where &(t) is Dirac Delta function

(E)  x(t)=tu(t) is neither an energy signal nor a power signal 4(t) is unit step function
Choose the most appropriate answer from the options given below :

(1) (), (B) and (C) Only

(2) (B), (C) and (D) Only
B) (4). (D) and () Only
(4) (C), (D) and (E) Only
Options :

878270142229. 1
878270142230. 2
878270142231. 3

878270142232. 4

Question Number : 99 Question Id : 87827036176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements

(A) The output voltage of a summing amplifier (inverting configuration) with three inputs V,,

.l Vel R, R,and R.is V [1+ Ry M—V’W—V“—VC]
3 7 ¥ I: PP t i i ' e
B dn C dan ]ﬂpu Tesistors A Bp dll \c 15 'p RA RE RC RA RB RC

(B) Inasubtractor circuit, the output voltage is equal to voltage applied to non-inverting terminal
minus voltage applied to inverting terminal

(C) The narrow band pass filter is called a Notch filter

(D) VCO is also called as frequency to voltage

(E) The all pass filter provides unity-gain with predictable phase shifts for different input
frequencies

Choose the most appropriate answer from the options given below :

(I) (A)and (D) Only

(2) (C) and (E) Only

(3) (B) and (D) Only

(4) (B) and (E) Only

Options:

878270142233. 1
878270142234. 2
878270142235. 3
878270142236. 4

Question Number : 99 Question Id : 87827036176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements

(A) The output voltage of a summing amplifier (inverting configuration) with three inputs V,,

.l Vel R, R,and R.is V [1+ Ry M—V’W—V“—VC]
3 7 ¥ I: PP t i i ' e
B dn C dan ]ﬂpu Tesistors A Bp dll \c 15 'p RA RE RC RA RB RC

(B) Inasubtractor circuit, the output voltage is equal to voltage applied to non-inverting terminal
minus voltage applied to inverting terminal

(C) The narrow band pass filter is called a Notch filter

(D) VCO is also called as frequency to voltage

(E) The all pass filter provides unity-gain with predictable phase shifts for different input
frequencies

Choose the most appropriate answer from the options given below :

(I) (A)and (D) Only

(2) (C) and (E) Only

(3) (B) and (D) Only

(4) (B) and (E) Only

Options:

878270142233. 1
878270142234. 2
878270142235. 3
878270142236. 4

Question Number : 100 Question Id : 87827036177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



From the following statements :

(A) Ipg is the maximum drain current for a JFET with a open circuit connection from gate to
source and Ve >V, (Pinch off voltage)

(B) The magnitude gain corresponding to a voltage gain of 100 dB is 1,00,000

(C) For any inverting amplifier, the input capacitance will be increased by a Miller effect
capacitance sensitive to gain of amplifier and feedback capacitance (C;) between input and
output terminals of active device

(D) The Flight frequency transistor small signal AC equivalent circuit model i.e. Hybrid-m isknown
as Glacolcott model

(E)  The transistor bias configuration having high stability factor are stable and relatively insensitive
to temperature variations

Choose the most appropriate answer from the options given below :
(1) (4], (B) and (C) Only

(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
4) (C), (D) and (E) Only
Options:
878270142237. 1
878270142238. 2
878270142239. 3

878270142240. 4

Question Number : 100 Question Id : 87827036177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



From the following statements :

(A) Ipg is the maximum drain current for a JFET with a open circuit connection from gate to
source and Ve >V, (Pinch off voltage)

(B) The magnitude gain corresponding to a voltage gain of 100 dB is 1,00,000

(C) For any inverting amplifier, the input capacitance will be increased by a Miller effect
capacitance sensitive to gain of amplifier and feedback capacitance (C;) between input and
output terminals of active device

(D) The Flight frequency transistor small signal AC equivalent circuit model i.e. Hybrid-m isknown
as Glacolcott model

(E)  The transistor bias configuration having high stability factor are stable and relatively insensitive
to temperature variations

Choose the most appropriate answer from the options given below :
(1) (4], (B) and (C) Only

(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
4) (C), (D) and (E) Only
Options:
878270142237. 1
878270142238. 2
878270142239. 3

878270142240. 4

Question Number : 101 Question Id : 87827036178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements :

(A) An 8-input MUX can be implemented using any 4 variable function

(B) A 3-line to 8-line DEMUX can be used to implement any 4 variable functions
(C) A 64input MUX can be built using nine 8-input MUXs

(D) A 6-line to 64-line DEMUX can be built using nine 3-line DEMUXs

Choose the most appropriate answer from the options given below :

(1) (A), (B) (C) and (D) Only

) (A), (8)and (D) Only

(3) (C) and (D) Only

(4) (A), (B) and (C) Only

Options:

878270142241.1
878270142242. 2
878270142243. 3

878270142244. 4

Question Number : 101 Question Id : 87827036178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements :

(A) An 8-input MUX can be implemented using any 4 variable function

(B) A 3-line to 8-line DEMUX can be used to implement any 4 variable functions
(C) A 64-input MUX can be built using nine 8-input MUXs

(D) A 6-line to 64-line DEMUX can be built using nine 3-line DEMUXs

Choose the most appropriate answer from the options given below :

(1) (A), (B) (C) and (D) Only

) (A), (8)and (D) Only

(3) (C) and (D) Only

(4) (A), (B) and (C) Only

Options :
878270142241. 1

878270142242. 2



878270142243. 3

878270142244. 4

Question Number : 102 Question Id : 87827036179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements regarding registers and lafches :

(A) Registers are made of edge triggered flip-flops whereas latched are made from level triggered
flip flops

(B) Registers are temporary storage devices whereas latches are not

(C) Alatch employs cross coupled feed back connections

(D) A register stores a binary word whereas a latch does not

Choose the most appropriate answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

4) (C) and (D) Only

Options :

878270142245. 1
878270142246. 2
878270142247.3

878270142248. 4

Question Number : 102 Question Id : 87827036179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Consider the following statements regarding registers and latches :

(A) Registers are made of edge triggered flip-flops whereas latched are made from level triggered
flip flops

(B) Registers are temporary storage devices whereas latches are not

(C)  Alatch employs cross coupled feed back connections

(D) A register stores a binary word whereas a latch does not

Choose the most appropriate answer from the options given below :

(1) (A)and (B) Only

() (A)and (C) Only
(3 (B)and (C) Only
(4 (C)and (D) Only
Options:

878270142245. 1
878270142246. 2
878270142247. 3

878270142248. 4

Question Number : 103 Question Id : 87827036180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements :

(A) When two signal numbers are added, an overflow is detected from the carry into the most
significant position

(B) An overflow does not occur if the two numbers added are both negative

(C) Ifthecarryinto the sign bit positionand carry out position are notequal, an overflow condition
is produced

(D) A full adder is a logic circuit with there inputs and two outputs. The circuit adds 3 bits at a
tlime, giving a sum and a carry output

Choose the most appropriate answer from the options given below :

() (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (C) and (D) Only

4) (C) and (D) Only



Options :

878270142249. 1
878270142250. 2
878270142251. 3

878270142252. 4

Question Number : 103 Question Id : 87827036180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following statements :

(A) When two signal numbers are added, an overflow is detected from the carry into the most
significant position

(B)  Anoverflow does not occur if the two numbers added are both negative

(C) Ifthecarry into the sign bit position and carry out position are notequal, an overflow condition
is produced

(D) A full adder is a logic circuit with there inputs and two outputs. The circuit adds 3 bits at a
time, giving a sum and a carry output

Choose the most appropriate answer from the options given below :

(I) (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (C) and (D) Only

4) (C) and (D) Only

Options:

878270142249. 1
878270142250. 2
878270142251.3

878270142252. 4

Question Number : 104 Question Id : 87827036181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In a 8051 microcontroller, ACALL (absolute call) instruction has the following interpretation :
(A) Itisatwo byte instruction
(B) Itis a three byte instruction

(C) The target address of the subroutine must be within 2k bytes because only 11 bits of the 2
bytes are used for the address

(D) There is no difference between ACALL and LCALL in terms of saving the program counter
on the stack

(E) The target address can be anywhere within 64k bytes
Choose the most appropriate answer from the options given below :

() (A),(C) and (D) Only

(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
(4) (B), (C)and () Only
Options:

878270142253. 1
878270142254. 2
878270142255. 3

878270142256. 4

Question Number : 104 Question Id : 87827036181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In a 8051 microcontroller, ACALL (absolute call) instruction has the following interpretation :
(A) Itisatwo byte instruction
(B) Itis a three byte instruction

(C) The target address of the subroutine must be within 2k bytes because only 11 bits of the 2
bytes are used for the address

(D) There is no difference between ACALL and LCALL in terms of saving the program counter
on the stack

(E) The target address can be anywhere within 64k bytes
Choose the most appropriate answer from the options given below :

() (A),(C) and (D) Only

(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
(4) (B), (C)and () Only
Options:

878270142253. 1
878270142254. 2
878270142255. 3

878270142256. 4

Question Number : 105 Question Id : 87827036182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the following 8051 assembly language program :

MOV A, # 25H

MOV B, # 78H

MUL AB

(A) A=11H, B=58H

(B) A=58H, B=11H

(€) CY=0and OV=1

(D) CY=1and OV=1

Choose the most appropriate answer from the options given below :

(1) (A)and (C) Only

(2) (A) and (D) Only
(3) (B) and (C) Only
(4) (B) and (D) Only
Options:

878270142257. 1
878270142258. 2
878270142259. 3
878270142260. 4

Question Number : 105 Question Id : 87827036182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the following 8051 assembly language program :

MOV A, # 25H

MOV B, # 78H

MUL AB

(A) A=11H, B=58H

(B) A=58H, B=11H

(€) CY=0and OV=1

(D) CY=1and OV=1

Choose the most appropriate answer from the options given below :

(1) (A)and (C) Only

(2) (A) and (D) Only
(3) (B) and (C) Only
(4) (B) and (D) Only
Options:

878270142257. 1
878270142258. 2
878270142259. 3
878270142260. 4

Question Number : 106 Question Id : 87827036183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A conventional magnetron has Anode Voltage =26 kV, Beam Current=29 A, By=0.336 wb/ m?,
Radius of cathode cylinder=5 cm, Radius of vane edge to center=10 cm.

(A) The cyclotron angular frequency w =5.91%10° rad

(B) =591x 1010 rad

(C) w.=591x10% rad

(D) Cut off voltage =139.50 kV

(E) Cut off voltage=239.59 kV

Choose the most appropriate answer from the options given below :
(I) (A)and (E) Only

(2) (B) and (D) Only

(3) (A)and (D) Only

(4) (C) and (E) Only

Options:

878270142261. 1
878270142262. 2
878270142263. 3
878270142264. 4

Question Number : 106 Question Id : 87827036183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A conventional magnetron has Anode Voltage =26 kV, Beam Current=29 A, By=0.336 wb/ m?,
Radius of cathode cylinder=5 cm, Radius of vane edge to center=10 cm.

(A) The cyclotron angular frequency w.=591x10° rad

(B) w.=591x10" rad

(€) w=591x10% rad

(D) Cut off voltage=139.50 kV

(E) Cut off voltage=239.59 kV

Choose the most appropriate answer from the options given below :
(I) (A)and (E) Only

(2) (B) and (D) Only

(3) (A)and (D) Only

(4) (C) and (E) Only



Options :

878270142261. 1
878270142262. 2
878270142263. 3

878270142264. 4

Question Number : 107 Question Id : 87827036184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For wave motion in perfect dielectrics following conditions are given :
( The material is loss less

(B) The material is lossy

(C) The medium is isotropic

(D) The medium is non-homogeneous

(E) The medium is homogeneous

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (E) Only

(2) (A), (C) and (D) Only
(3) (B), (C) and (D) Only
(4) (A)and (C) Only

Options:

878270142265. 1
878270142266. 2
878270142267.3

878270142268. 4

Question Number : 107 Question Id : 87827036184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For wave motion in perfect dielectrics following conditions are given :
( The material is loss less

(B) The material is lossy

(C) The medium is isotropic

(D) The medium is non-homogeneous

( The medium is homogeneous

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (E) Only

(2) (A), (C) and (D) Only
(3) (B), (C) and (D) Only
(4)  (A)and (C) Only

Options:

878270142265. 1
878270142266. 2
878270142267.3

878270142268. 4

Question Number : 108 Question Id : 87827036185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For para]lel plane transmission line with two conductjng plal'@s of cnnduclivil'}f g, thickness=t,
and separation of ‘d’ and dielectric parameters e, y and length ‘b’ following is given :
Forb>>d

(A) L=pb/t

(B) Capacitance =%h

2= (4

Choose the most appropriate answer from the options given below :
(I) (A), (B) Only

(@ (4) () (D) Only
(3) (B), (C) Only

(4 ) () (D) Only
Options:
878270142269. 1
878270142270. 2
878270142271. 3

878270142272. 4

Question Number : 108 Question Id : 87827036185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For para]lel plane transmission line with two conductjng plal'@s of cnnduclivil'}f g, thickness=t,
and separation of ‘d’ and dielectric parameters e, y and length ‘b’ following is given :
Forb>>d

(A) L=pb/t

(B) Capacitance =%h

2= (4

Choose the most appropriate answer from the options given below :
(I) (A), (B) Only

(@ (4) () (D) Only
(3) (B), (C) Only

(4 ) () (D) Only
Options:
878270142269. 1
878270142270. 2
878270142271. 3

878270142272. 4

Question Number : 109 Question Id : 87827036186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The disadvantage of co-axial cable is/are :

(A) Support higher bandwidth than twisted pair cable

(B) Light weight

(C) Relatively expensive compared to twisted pair cable

(D) EMI resistant

(E) Doesn’t at very high frequency

Choose the most appropriate answer from the options given below :

(1) (A) (B) Only

) (Q), (E) Only

(3) (B), (D), (E) Only
(4) (A), (D) Only
Options:

878270142273. 1
878270142274. 2
878270142275. 3

878270142276. 4

Question Number : 109 Question Id : 87827036186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The disadvantage of co-axial cable is/are :

(A) Support higher bandwidth than twisted pair cable

(B) Light weight

(C) Relatively expensive compared to twisted pair cable

(D) EMI resistant

(E) Doesn’t at very high frequency

Choose the most appropriate answer from the options given below :

(1) (A) (B) Only

2) (C), (E) Only
(3) (B), (D), (E) Only
(4) (A), (D) Only

Options :



878270142273. 1
878270142274. 2
878270142275. 3

878270142276. 4

Question Number : 110 Question Id : 87827036187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(A) Multimode fibre is less lossy than single mode

(B) The bandwidth of step index fibre is 50 MHz

(C) The graded index fibre has theoretically infinite bandwidth
(D) The step index fibre has numerical aperture of 0.2 to 0.5

(E) The graded index fibre has numerical aperture of 0.46 to 0.99
Choose the most appropriate answer from the options given below :

(1) (A) (B) Only

(2)  (B), (©) (D) Only
(@) (), (D), (E) Only
(4) (A), (D) Only
Options :

878270142277. 1
878270142278. 2
878270142279. 3

878270142280. 4

Question Number : 110 Question Id : 87827036187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(A) Multimode fibre is less lossy than single mode

(B) The bandwidth of step index fibre is 50 MHz

(C) The graded index fibre has theoretically infinite bandwidth
(D) The step index fibre has numerical aperture of 0.2 to 0.5

(E) The graded index fibre has numerical aperture of 0.46 to (.99
Choose the most appropriate answer from the options given below :
(1) (A), (B) Only

(@ (8), (C), (D) Only

(3 (©, (D) (E) Only

(4) (A), (D) Only

Options:

878270142277. 1

878270142278. 2

878270142279. 3

878270142280. 4

Question Number : 111 Question Id : 87827036188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct in respect of Routh’s stability criterion ?
(A) This stability orientation applies to polynomials with only finite number of terms

(B) When this criterion is applied to a control system, the information about absolute stability
can be obtained directly from the coefficients of the characteristic equations

(C) The Routh's stability criterion tells whether or not there are unstable roots in polynomial
equation without actually solving for than

(D) Routh’s criterion is not related to system stability

Choose the most appropriate answer from the options given below :

(1) (A)and (B) Only

() (B)and (C)Only
() (C) and (D) Only
() (A), (B)and (C) Only

Options :

878270142281. 1



878270142282. 2
878270142283. 3

878270142284. 4

Question Number : 111 Question Id : 87827036188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct in respect of Routh’s stability criterion ?

(A) This stability orientation applies to polynomials with only finite number of terms

(B) When this criterion is applied to a control system, the information about absolute stability
can be obtained directly from the coefficients of the characteristic equations

(C) The Routh's stability criterion tells whether or not there are unstable roots in polynomial
equation without actually solving for than

(D) Routh’s criterion is not related to system stability
Choose the most appropriate answer from the options given below :

(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (A), (B) and (C) Only
Options :

878270142281. 1
878270142282. 2
878270142283. 3

878270142284. 4

Question Number : 112 Question Id : 87827036189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Converter 1 Converter 2

The above circuit is operated at 120 V - 60 Hz supply and the load resistance R=20 (), L=40 mH,
delay angles are o =60°, ay=120°. The value of :

(A) Peak circulating current=11.250 A

(B) Peak circulating current=6.250 A

(C) Peak current of converter 1=8485 A

(D) Peak current of converter 1=19.735 A

Choose the most appropriate answer from the options given below :
() (A)and (D) Only

() (®and () Only
(3) (B) and (D) Only
4) (A)and (C) Only

Options:

878270142285. 1
878270142286. 2
878270142287.3

878270142288. 4

Question Number : 112 Question Id : 87827036189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Converter 1 Converter 2

The above circuit is operated at 120 V - 60 Hz supply and the load resistance R=20 (), L=40 mH,
delay angles are o =60°, ay=120°. The value of :

(A) Peak circulating current=11.250 A

(B) Peak circulating current=6.250 A

(C) Peak current of converter 1=8485 A

(D) Peak current of converter 1=19.735 A

Choose the most appropriate answer from the options given below :
() (A)and (D) Only

() (®and () Only
(3) (B) and (D) Only
4) (A)and (C) Only

Options:

878270142285. 1
878270142286. 2
878270142287.3

878270142288. 4

Question Number : 113 Question Id : 87827036190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In induction motors, fo]lowing statements are given :

(A) The MMF wave travels during one cycle of the current, a distance twice the pole pitch or
wavelength

B) For a given pole pitch and frequency, the velocity of the travelling field keep varyin
GIven poie p (JUercy ) b p varying
C) The MMF wave travels during one and half cycle of the current, a distance twice the pole
6 ] P
pitch of wavelength

(D) Fora given pole pitch and frequency, the velocity of the travelling field is constant
Choose the most appropriate answer from the options given below :

(I) (B) and (D) Only

(2) (A)and (D) Only

(3) () and (D) Only

(4) (B) and (C) Only

Options:

878270142289. 1
878270142290. 2
878270142291.3

878270142292. 4

Question Number : 113 Question Id : 87827036190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In induction motors, fo]lowing statements are given :

(A) The MMF wave travels during one cycle of the current, a distance twice the pole pitch or
wavelength

(B) For a given pole pitch and frequency, the velocity of the travelling field keep varying

(C) The MMF wave travels during one and half cycle of the current, a distance twice the pole
pitch of wavelength

(D) Fora given pole pitch and frequency, the velocity of the travelling field is constant

Choose the most appropriate answer from the options given below :

(I) (B) and (D) Only

(2) (A) and (D) Only

(3) (C) and (D) Only

(4) (B) and (C) Only



Options :

878270142289. 1
878270142290. 2
878270142291. 3
878270142292. 4

Question Number : 114 Question Id : 87827036191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

There are number of distinct advantages of the digital storage oscilloscope as given below :
(A) A waveform to be stored is digitized

(B)  The waveform is stored in a digital memory

(C) The stored waveform can be displayed as and when required

(D) The cost is reduced as compared to conventional CRT

Choose the correct answer from the options given below :

() (A)and (B) Only

(2) (B) and (C) Only

(3)  (B) and (D) Only

(4) (A), (B) and (C) Only
Options :
878270142293. 1
878270142294. 2
878270142295. 3

878270142296. 4

Question Number : 114 Question Id : 87827036191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



There are number of distinct advantages of the digital storage oscilloscope as given below :
(A) A waveform to be stored is digitized

(B)  The waveform is stored in a digital memory

(C) The stored waveform can be displayed as and when required

(D) The cost is reduced as compared to conventional CRT

Choose the correct answer from the options given below :

() (A)and (B) Only

(2) (B) and (C) Only

(3)  (B) and (D) Only

(4) (A), (B) and (C) Only

Options:

878270142293. 1
878270142294. 2
878270142295. 3
878270142296. 4

Question Number : 115 Question Id : 87827036192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Read the following statements with respect to a Wein bridge :
(A) Itisan AC bridge to measure frequency

(B) Itisa DC bridge to measure amplitude

(C) Itis used as frequency determining element

(D) It is used as band pass filter

(E) It is used as Notch filter

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (A) and (D) Only

(3) (B) and (C) Only

(4) (A), (C) and (E) Only

Options :

878270142297. 1



878270142298. 2
878270142299. 3

878270142300. 4

Question Number : 115 Question Id : 87827036192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Read the following statements with respect to a Wein bridge :
(A) Itis an AC bridge to measure frequency

(B) Itisa DC bridge to measure amplitude

(C) Itis used as frequency determining element

(D) It is used as band pass filter

(E) It is used as Notch filter

Choose the correct answer from the options given below :

(1) (A)and (C) Only

(2) (A) and (D) Only
(3 (B) and (C) Only
4) (A), (€) and (E) Only

Options :

878270142297. 1
878270142298. 2
878270142299. 3
878270142300. 4

Question Number : 116 Question Id : 87827036193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) MODFET (I)  Voltage controller resistor
(B) MOSFET (I)  Fill factor
(€) Solar cell (Ilf) PN junction placed back to back
(D) JFET (IV) Two dimensional electron gas
Choose the correct answer from the options given below :
1) (AHLV), (B-(IL), (O-1L), (D)-0)
(2 (A)-(D), (BRI, (O-(IL), (D)-(1V)
(3) (A, B)-1V), (©-(), (D)
(@) (A, (B)-{I), (CHIV), (D)-(L)
Options:

878270142301. 1
878270142302. 2
878270142303. 3

878270142304. 4

Question Number : 116 Question Id : 87827036193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) MODFET (I)  Voltage controller resistor
(B) MOSFET (I)  Fill factor
(€) Solar cell (Ilf) PN junction placed back to back
(D) JFET (IV) Two dimensional electron gas
Choose the correct answer from the options given below :
L) (A)HLV), (B)-(H), (O, (D)-(0)
(2) (A0, (B)-(L), (O~L), (D)-(1V)
(3) (AN, B}-AV), (©)-0), (D))
(4) (A, B)-(1), (O-IV), (D)-(I)

Options :



878270142301. 1
878270142302. 2
878270142303. 3

878270142304. 4

Question Number : 117 Question Id : 87827036194 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) Annealing (Iy Isolation
(B) Sealing (II) Doping
(C) Ion implication (IlT) Packing density
(D) Oxidation (IV) Crystal restoration

Choose the correct answer from the options given below :
(1) (A=), (B)-(1V), (O)-(1D), (D)-(0)

(2) (A1), (B)-(IV), (C)-(I), (D)~(1LI)

(3) (A, (B)-(1V), (C)-(D), (D)-(IT)

(4)  (A)-(IV), (B)-(IIL), (C)-(11), (D)-(T)

Options :

878270142305. 1

878270142306. 2

878270142307. 3

878270142308. 4

No

Question Number : 117 Question Id : 87827036194 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Annealing (Iy Isolation
(B) Sealing () Doping
(C) Ilon implication (IIT) Packing density
(D) Oxidation (IV) Crystal restoration

Choose the correct answer from the Dptinns given below :

(1) (A, (B)-(1V), (O)-(1D), (D)-(I)

(2) (AL, (B)-(IV), (O)-(I), (D)-(IL)
(3)  (A)-(I), (B)-(IV), (O)-(D), (D)-(II)
(4) (A)IV), (B)-(IL), (O)-(IL), (D)-(T)
Options:

878270142305. 1
878270142306. 2
878270142307. 3
878270142308. 4

Question Number : 118 Question Id : 87827036195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II
Sequence x|n] Fourier Transform X({))
(A) ™ x[n] 0 (1-e"x(@
(B) nx|[n] (I x(Q2-Q,)
(C) x[n]=x[n-1] (I) —ifdn,
D) o Y il
D) 8n-n,] ™) =g

Choose the correct answer from the options given below :

(1) (A, B)-{), (O)-IV), (D)-[0)
(2)  (AHID, (B)-AV), (O-(1), (D)-(LL)
(3)  (AHIV), (BIH(1), (C)-(1I), (D))
(4) (A1, (B)-(0), (O-1L), (D)-(IV)

Options:

878270142309. 1
878270142310. 2
878270142311.3

878270142312. 4

Question Number : 118 Question Id : 87827036195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II
Sequence x|n] Fourier Transform X({))
(A) ™ x[n] 0 (1-e"x(@
(B) nx|[n] (I x(Q2-Q,)
(C) x[n]=x[n-1] (I) —ifdn,
D) o Y il
D) 8n-n,] ™) =g

Choose the correct answer from the options given below :

(1) (A, B)-{), (O)-IV), (D)-[0)
(2)  (AHID, (B)-AV), (O-(1), (D)-(LL)
(3)  (AHIV), (BIH(1), (C)-(1I), (D))
(4) (A1, (B)-(0), (O-1L), (D)-(IV)

Options:

878270142309. 1
878270142310. 2
878270142311.3

878270142312. 4

Question Number : 119 Question Id : 87827036196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Feedback connection type Input/output impedance
ZG
(A) Voltage series feedback (L) Zof = 1+BA
(B) Voltage shunt feedback () Zy=Z,1+BA)
__ 4
(C) Current series feedback (L) Zif = (1+BA)
(D) Current shunt feedback (IV) Zy=Z;(1+BA)

Choose the correct answer from the Dpt‘iuns gwen below :

(1) (A-IV), (B)D), (C)-(LI), (DHI)
I

(2) (A1), (B)-(0), (Q-1V), (D)-(1)
(3) (A, (B)-1), (O-(II), (D)-(IV)
(4)  (AHLV), (B)-(I), (C)-(II), (D)-(11)
Options:

878270142313. 1
878270142314. 2
878270142315. 3

878270142316. 4

Question Number : 119 Question Id : 87827036196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Feedback connection type Input/output impedance
ZG
(A) Voltage series feedback (L) Zof = 1+BA
(B) Voltage shunt feedback () Zy=Z,1+BA)
__ 4
(C) Current series feedback (L) Zif = (1+BA)
(D) Current shunt feedback (IV) Zy=Z;(1+BA)

Choose the correct answer from the Dpt‘iuns gwen below :

(1) (A-IV), (B)D), (C)-(LI), (DHI)
I

(2) (A1), (B)-(0), (Q-1V), (D)-(1)
(3) (A, (B)-1), (O-(II), (D)-(IV)
(4)  (AHLV), (B)-(I), (C)-(II), (D)-(11)
Options:

878270142313. 1
878270142314. 2
878270142315. 3

878270142316. 4

Question Number : 120 Question Id : 87827036197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
(A) EPROM (I)  AND gate programmable OR gate permanently
wired
() PLA (I) Both AND and OR gates are programmable

(C) Generic Array Logic (GAL) (If) AND gate programmable, output permanently hard
wired but may be taken through register or tristate
gate programmable

(D) PAL (IV) AND gate permanently hard wired OR gate
programmable

Choose the correct answer from the options given below :

(1) (AHV), (BHD), CH(), D))

(2) (AR, (BHID, ©)-(1V), (D)-()

() (AHLV), (B, (C)-(), D))

(4)  (A)M), (B, (CHIV), (D}

Options:

(
(
(

878270142317. 1
878270142318. 2
878270142319. 3

878270142320. 4

Question Number : 120 Question Id : 87827036197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List-1I
(A) EPROM (I)  AND gate programmable OR gate permanently
wired
() PLA (I) Both AND and OR gates are programmable

(C) Generic Array Logic (GAL) (If) AND gate programmable, output permanently hard
wired but may be taken through register or tristate
gate programmable

(D) PAL (IV) AND gate permanently hard wired OR gate
programmable

Choose the correct answer from the options given below :

(1) (AHV), (BHD), CH(), D))

(2) (AR, (BHID, ©)-(1V), (D)-()

() (AHLV), (B, (C)-(), D))

(4)  (A)M), (B, (CHIV), (D}

Options:

(
(
(

878270142317. 1
878270142318. 2
878270142319. 3

878270142320. 4

Question Number : 121 Question Id : 87827036198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
8086 Instruction Addressing mode
(A) MOV BX, AX (I)  Register Relative Addressing
(B) MOV AX, 50H[BX] (II) Direct Addressing
(C) MOV AX, [BX] (IT) Register addressing
(D) MOV AX, [2000H] (IV) Register Indirect Addressing

Choose the correct answer from the options given below :

(1) (A1), B}, ©)-1), (D)-(V)

(2)  (A)-{I), (B)-(IV), (OHI), (D)-(II)
(3)  (A)-I), (B)I), (C}-(IV), (D)-(I)
(4) (A0, B)-(IV), (), (D))
Options :

878270142321. 1
878270142322. 2
878270142323. 3

878270142324. 4

Question Number : 121 Question Id : 87827036198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - 1 List - II
8086 Instruction Addressing mode
(A) MOV BX, AX (I)  Register Relative Addressing
(B) MOV AX, 50H[BX] (I) Direct Addressing
(C) MOV AX, [BX] (I) Register addressing
(D) MOV AX, [2000H] (IV) Register Indirect Addressing

Choose the correct answer from the options given below :

(1) (AHI), B, ©)-(1), (D)-(IV)

(2) (A, BHLV), (OAD), (D}L)
(3) (A, (B)I), (OH(IV), (D))
(4)  (A)(D), (BHIV), (C)-(ID), (D)-(IM)



Options :

878270142321. 1
878270142322. 2
878270142323.3

878270142324. 4

Question Number : 122 Question Id : 87827036199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
Microwave devices Name of device
A) Microwave transistor (I) CCD
(B) Field effect transistor (II) InP diodes
(C) Transferred electron device (IlI) Read diode

(D) Avalauche transit time device (IV) HBT

Choose the correct answer from the options giu en below :

(1) (A)-(IV), (B)-(1), (C)-(1I), (D)-~(IL)
(2)  (A)(IV), (B)-(1I), (C)-(111), (D)-(I)
(3)  (A)-(1), (B)-(I1D), (C)-(IV), (D)-(I)
(4)  (AD), (B)-(I), (O)-(IV), (D)~
Options:

878270142325. 1
878270142326. 2
878270142327. 3

878270142328. 4

Question Number : 122 Question Id : 87827036199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I1
Microwave devices Name of device
(A) Microwave transistor () CCD
(B) Field effect transistor {II) InP diodes
(C) Transferred electron device (IlI) Read diode
(D) Avalauche transit time device {W) HBT

Choose the correct answer from the options g'w en below :

(1) (A}(IV), (B)-(D), (C)-(ID), (D))

(2)  (A)HIV), (B)-(1I), (C)-(IL), (D)-(1)
(3)  (A)-(1D), (B)-(U), (O-(IV), (D)-(1)
4) (A0, (B)-(L), (O)-(IV), (D))

Options :

878270142325. 1
878270142326. 2
878270142327. 3

878270142328. 4

Question Number : 123 Question Id : 87827036200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) White noise (I)  Reduces antenna height
_ b’
(B) RMS noise voltage (I ¢l
(C) Modulation (II) Inversely proportional to [T
(D) Ppegec (IV) Johnson Noise

Choose the correct answer from the options given below :

(1) (AHIV), (BHILD), (COH), (D)-(I)

(2) (A1), (BRI, (C)-(IL), (D)-(IV)
(3) (A, (B)-(D, ©)-{1V), (D)-(1)
(4)  (AMIV), (B, (O, (D)-(1)

Options :

878270142329. 1
878270142330. 2
878270142331. 3

878270142332. 4

Question Number : 123 Question Id : 87827036200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) White noise (I)  Reduces antenna height
_ b’
(B) RMS noise voltage (I ¢l
(C) Modulation (II) Inversely proportional to [T
(D) Ppegec (IV) Johnson Noise

Choose the correct answer from the options given below :

(1) (AHIV), (BHILD), (COH), (D)-(I)

(2) (A1), (BRI, (C)-(IL), (D)-(IV)
(3) (A, (B)-(D, ©)-{1V), (D)-(1)
(4)  (AMIV), (B, (O, (D)-(1)

Options :

878270142329. 1
878270142330. 2
878270142331. 3

878270142332. 4

Question Number : 124 Question Id : 87827036201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I
(A) Electrical resistance (I °C/W
(B) Thermal resistance (I w
(C) Time constant (II) RC
(D) Rate of heat transfer (Iv) V/A

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(I), (C)«(IV), (D)-(I)

(2)  (A)-(I), (B)~(1D), (C)-(I), (D)-(1V)

(3)  (A)(IV), (B)(1D), (C)-(I1D), (D)-(I)

(4)  (A)-(IV), (B)-(I), (C)-(L), (D)-(I)

Options:

878270142333. 1

878270142334. 2

878270142335. 3

878270142336. 4

Question Number : 124 Question Id : 87827036201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Electrical resistance (I °C/W
(B) Thermal resistance (I W
(C) Time constant (III) RC
(D) Rate of heat transfer (Iv) V/A

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(II), (C)~(1V), (D)~(11I)
(2) (A)-(I0), (B)~(1), (C)-(1), (D)-(IV)
(3)  (A)-IV), (B)~(1D), (C)-(I1L), (D)-(I)
(4)  (A)-(IV), (B)-(I), (C)-(L), (D)-(I)

Options :



878270142333. 1
878270142334. 2
878270142335. 3

878270142336. 4

Question Number : 125 Question Id : 87827036202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

Transducers Typical Applications
A) Potentiometric device (I) Relative humidity
(B) Resistance hygrometer (II)  Velocity
(C) Dielectric gauge (L) Displacement

(D) Moving coil generator (IV) Thickness

Choose the correct answer from the options gi‘u en below :

(1) (A1), (B)-(IID), (O)-AV), (D)-(])
(2) (A, (B)-(I), (©)-(1V), (D)-(1)
(3)  (A)-(I), (B)-(T), (C)-(IV), (D)-(ID)
4) (A1), (B)-(IV), (O)-I), (D))
Options :

878270142337. 1
878270142338. 2
878270142339. 3
878270142340. 4

Question Number : 125 Question Id : 87827036202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Transducers Typical Applications
(A) Potentiometric device (I)  Relative humidity
(B) Resistance hygrometer (IT)  Velocity
(C) Dielectric gauge (IlT) Displacement
(D) Moving coil generator (IV) Thickness

Choose the correct answer from the options g'w en below :

(1) (A1), (B)-(1D), (©)-{1V), (D)-()
(

(2) (A, (B)-(1D, (O)-(1V), (D)-(1)
(3)  (A)(II), (B)-(T), (CH(IV), (D)-(ID)
4) (A1), (B)-IV), (C)-(1), (D))

Options :

878270142337. 1
878270142338. 2
878270142339. 3

878270142340. 4

Question Number : 126 Question Id : 87827036203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing in ascendmg order based on their dift usivity :

(A) Boron
(B) Arsenic

(C) Antimony

(D) Phosphorus

Choose the most appropriate answer from the options given below :
(1) (©), (A), (B), (D)

) O (A )
(3) (&), (B), (©) (D)
4 )

e
-
—_—
)
e
=
—
=

Options :



878270142341. 1
878270142342. 2
878270142343. 3

878270142344. 4

Question Number : 126 Question Id : 87827036203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in ascending order based on their diffusivity :
(A) Boron

(B) Arsenic

(C) Antimony

(D) Phosphorus

Choose the most appropriate answer from the options given below :

M (©), (A, ) (D)
@ (©). (), (D) B)

) (©

(3)  (A), (B), (C), (D)
4) (B), (©), (D) (4)
Options :
878270142341. 1
878270142342 2
878270142343. 3

878270142344. 4

Question Number : 127 Question Id : 87827036204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The DEb}’E length is a characteristic lenglh for semiconductor. Arrange the doping density given
below in such a way that Debye length changes from maximum to minimum.

(A) N=10B¢m™3

(B) N=10cm™3

(C) N=3x10Bcm™3
(D) N=101cm-3

(E) N=5x10%cm™3
Choose the most appropriate answer from the options given below :
() (8), (€) (D), (©), (A)
@ (© () (D) () (A)
3) (4),(©), O), () B)
(4) (@) @), ®) ©) (E)

Options:

878270142345. 1
878270142346. 2
878270142347.3
878270142348. 4

Question Number : 127 Question Id : 87827036204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Deb_ve length 15 a characteristic lenglh for semiconductor. Arrange the doping density given
below 1n such a way that Debye length changes from maximum to minimum.

(A) N=101m"3
(B) N=10"cm™3
() N=3x10Bcm™3
D) N=10lcm™3
E) N=5x10%cm3

(
(
(
Choose the most appropriate answer from the options given below :

1) (8) (E) (D), (C) (A)

(

@ (© () ) () (A)
() (&) (©) ) &) ®)
(4) ([O) (A) ®) (C) E)



Options :

878270142345. 1
878270142346. 2
878270142347. 3

878270142348. 4

Question Number : 128 Question Id : 87827036205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the time constant in descending order, for the circuit given below (having different

combinations of Vsup iy and Capacitor (C))
kO 9kQ
20k0)
(A) supply =250V ; C=3 pF
(B) suppl}' =150V, C=1yF
(D) suppl:.' =20V ’ C=6 HF
E) V supply =80V ; C=05 puF

Choose the most appropriate answer from the options given below :
1) (4)(C), @) E), D)
2 © ) &)

( (B), ()
() (B), (D) (A) (©) E)
(@) (D) (4), C), (®) &
Options :

878270142349. 1
878270142350. 2
878270142351. 3

878270142352. 4



Question Number : 128 Question Id : 87827036205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the time constant in descending order, for the circuit given below (having different

combinations of V oty and Capacitor (C))

kO 9kO

20 k@)

(4) Vogppy =20V ; C=3 4
B) Vg =150V ; C=1 yF
() Vi =100V C=2 F
(D) Vi, =250V ; C=6 F
) Viyppyy=80V; C=05 F

Choose the most appropriate answer from the options given below :
(M) @A) (©) B), E) ©)
2 ©) (&) (&), 6), O

Options:

878270142349. 1
878270142350. 2
878270142351. 3
878270142352. 4

Question Number : 129 Question Id : 87827036206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For an Emitter Bias BJT configuration arrange stability factor S(I, ) in descending order if p=>30.
Ry is base resistance and RE is emitter resistance,

(A) Rp=01Ry

(B) Ry=60R;

(C) Ry=100 R;

(D) Rp=10Ry

(E) Ry=30Rg

Choose the most appropriate answer from the options given below :
(1) (), (©), O) (®) )
@ (©, (®) () (A) D)
() @) (© () (B) ()
(@) () (E) (&), C), O)
Options:
878270142353. 1
878270142354. 2
878270142355. 3

878270142356. 4

Question Number : 129 Question Id : 87827036206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For an Emitter Bias BJT configuration arrange stability factor 5(1, ) in descending order if p=>30.
Ry is base resistance and RE is emitter resistance,

(A) Rp=01R;

(B) Ry=60R;

(C) Ry=100 Ry

(D) Rp=10R

(E) Ry=30Rg

Choose the most appropriate answer from the options given below :

() (A) (€ ) B) &)
@ (O () &) () ©)
() O) (©) (A) B) E)
@ )

)
4 @) 6 @A) 0 0



Options :

878270142353. 1
878270142354. 2
878270142355. 3
878270142356. 4

Question Number : 130 Question Id : 87827036207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given that for a logic family :

(A) Vg is the maximum output high level voltage

(B) Vg is the maximum input low level voltage

(C) Vi is the minimum input acceptable input high voltage level
(D) Vy; is the minimum acceptable input low voltage level

Choose the most appropriate answer from the options given below :

(1) ©), (&), (D) (B)

2 (A) (©), (D) (B)
3) (©) (&), (B) (D)
@) (A) ©), (B), (D)
Options:

878270142357. 1
878270142358. 2
878270142359. 3

878270142360. 4

Question Number : 130 Question Id : 87827036207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given that for a logic family :

(A) Vg is the maximum output high level voltage

(B) Vg is the maximum input low level voltage

(C) Vi is the minimum input acceptable input high voltage level
(D) Vy; is the minimum acceptable input low voltage level

Choose the most appropriate answer from the options given below :

(1) ©), (&), (D) (B)

2 (A) (©), (D) (B)
G (© (&), (B) (D)
@) (A) ©), (B), (D)
Options:

878270142357. 1
878270142358. 2
878270142359. 3

878270142360. 4

Question Number : 131 Question Id : 87827036208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following interrupts in order of their priority upon reset in case of 8051 micro controller.
(A) INTO

(B) INT1

(C) TFO

(D) TF1

B &1

Choose the most appropriate answer from the options given below :

1) (A)(©) B) D), &)

(

@ (&), 6) © ), D)
®) ©) ©) (&), D) ()
(@) (8 (© (&) (D) (A)
Options :

878270142361. 1



878270142362. 2
878270142363. 3

878270142364. 4

Question Number : 131 Question Id : 87827036208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the followmg interrupts in order of their priority upon reset in case of 8051 micro controller,
(A) INTO
(B) INT1
(C

(
(E) (R PT

Choose the most appropriate answer from the options given below :

) (@) (€ 6) 0) E

)
(2 (A) ®) ©) (), )
3 (®), (C) (A), D) ()
@ (), (© ) (D) @A)
Options :

878270142361. 1
878270142362. 2
878270142363. 3

878270142364. 4

Question Number : 132 Question Id : 87827036209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the fn]lowing materials with respect to their relative dielectric constants in descending
orders :

(A) Ge
B) C
(C) CdS
(D) TO,
Choose the most appropriate answer from the options given below :
(1) (©) ), ©) A)

@ (©) @A) ©) )
) (D) (©) B), (A
(4 (©) @A) ) ©

Options:

878270142365. 1
878270142366. 2
878270142367.3

878270142368. 4

Question Number : 132 Question Id : 87827036209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lowing materials with respect to their relative dielectric constants in descending
orders :

(A) Ge
B) C
(C) CdS
(D) TiO,
Choose the most appropriate answer from the options given below :
(1) (©) ), ©) A)

@ () A)©) )
) (D) (©) B), (A
(4 (©) @A) ) ©

Options :

878270142365. 1



878270142366. 2
878270142367. 3

878270142368. 4

Question Number : 133 Question Id : 87827036210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The FM transmitters have the follnwmg blocks as per the following correct sequence :

A) Crystal Oscillator

B) Antenna

D) Phase modulate/ Audio source

(
(
(C) Frequency multiplier
{
{

E) Power amplifier

Choose the most appropriate answer from the options given below :

(1) (A),(8), ©) D) (B
@) ®) (©) E) D) A)
@) (A) E), ©) ({), )
(4 (A), (D), ©) (E) (B)

Options :

878270142369. 1
878270142370. 2
878270142371.3

878270142372. 4

Question Number : 133 Question Id : 87827036210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The FM transmitters have the following blocks as per the following correct sequence :
(A) Crystal Oscillator

(B) Antenna

(C) Frequency multiplier

(D) Phase modulate/ Audio source

(E

Choose the most appropriate answer from the options given below :

L

Power amplLfier

() (A) (B) ©), D), E
@) ®) (©) E) D) A)
@) (A) () ©), ®), D)
() (A) (D). (©) (), (B)
Options:

878270142369. 1
878270142370. 2
878270142371.3

878270142372. 4

Question Number : 134 Question Id : 87827036211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fD]lowing controllers for their system cnmplexily and arrange them in increasing
order of complexity.

(A) Proportional controller

(B)  Proportional plus derivative controller

(C) Proportional plus integral plus derivative controller

(D) Proportional plus integral

Choose the most appropriate answer from the options given below :
) (4, B 0

Q@600
G (© ®) (A)(©
@ ®) (© A) D)
Options :

878270142373. 1



878270142374. 2
878270142375. 3

878270142376. 4

Question Number : 134 Question Id : 87827036211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following controllers for their system complexity and arrange them in increasing
order of complexity.

(A) Proportional controller

(B) Proportional plus derivative controller

(C) Proportional plus integral plus derivative controller

(D) Proportional plus integral

Choose the most appropriate answer from the options given below :

m A0 60

)

e ]
—

(
(
(
Options :

878270142373. 1
878270142374. 2

878270142375. 3

878270142376. 4

Question Number : 135 Question Id : 87827036212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the fullnwing circuit, the switch Sl allows the output to switch between two ranges of

amplitudes from 0-0.1 V and (-1 V.

N
Wr—Mw———I:;W~—¢13 +Vec

Rgg B >__a-00

Fe

- 1 -V

Arrange these values of R;, R, and R, in increasing order.

(A) Valueof R,

(B) ValueofR,

(C) Value of Ry

Choose the most appropriate answer from the options given below :

0 © (a) 6

Options :

878270142377. 1
878270142378. 2
878270142379. 3

878270142380. 4

Question Number : 135 Question Id : 87827036212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the fullnwing circuit, the switch Sl allows the output to switch between two ranges of

amplitudes from 0-0.1 V and (-1 V.

N
Wr—Mw———I:;W~—¢13 +Vec

Rgg B >__a-00

Fe

- 1 -V

Arrange these values of R;, R, and R, in increasing order.

(A) Valueof R,

(B) ValueofR,

(C) Value of Ry

Choose the most appropriate answer from the options given below :

0 © (a) 6

Options :

878270142377. 1
878270142378. 2
878270142379. 3

878270142380. 4

Question Number : 136 Question Id : 87827036213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : A tunnel diode consists of simple p-n junction mode of degenerate semiconductor.,
The current voltage characteristics consists of three components and shows the
negative differential region over part of the forward characteristics.

Reason (R):  In tunnel diode the p-side is highly doped and n-side is highly doped and also
used as detector.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270142381. 1

878270142382. 2

878270142383. 3

878270142384. 4

Question Number : 136 Question Id : 87827036213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : A tunnel diode consists of simple p-n junction mode of degenerate semiconductor.
The current voltage characteristics consists of three components and shows the
negative differential region over part of the forward characteristics.

Reason (R):  In tunnel diode the p-side is highly doped and n-side is highly doped and also
used as detector.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(

4)  (A) is not correct but (R) is correct
Options:
878270142381. 1
878270142382. 2
878270142383. 3

878270142384. 4

Question Number : 137 Question Id : 87827036214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Dual-slope A/D converter is most preferred A/D conversion approach in digital
multimeters.

Reason (R):  Dual-slop A/D converter provides high accuracy in A/D conversion, while at
the same time suppressing the num effect on the input signal.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3)  (A) is correct but (R) is not correct

4)  (A) is not correct but (R) is correct

(
(
(



Options :

878270142385. 1
878270142386. 2
878270142387. 3
878270142388. 4

Question Number : 137 Question Id : 87827036214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Dual-slope A/D converter is most preferred A/D conversion approach in digital
multimeters.

Reason (R):  Dual-slop A/D converter provides high accuracy in A/D conversion, while at
the same time suppressing the num effect on the input signal.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270142385. 1

878270142386. 2

878270142387. 3

878270142388. 4

Question Number : 138 Question Id : 87827036215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : For 8086 microprocessor, the CS:IP loaded in the beginning with the required
address from which the execution is to be started.

Reason (R):  The microprocessor does not perform the next fetch operation till at least one
byte of the instruction queue is emptied.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270142389. 1

878270142390. 2

878270142391. 3

878270142392. 4

Question Number : 138 Question Id : 87827036215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : For 8086 microprocessor, the CS:IP loaded in the beginning with the required
address from which the execution is to be started.

Reason (R):  The microprocessor does not perform the next fetch operation till at least one
byte of the instruction queue is emptied.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)

2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3)  (A) is correct but (R) is not correct

4)  (A) is not correct but (R) is correct

(
(
(

Options :



878270142389. 1
878270142390. 2
878270142391. 3

878270142392. 4

Question Number : 139 Question Id : 87827036216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Synchronous machine is used as a motor and a generator also,

Reason (R):  Synchronous machine can operate at constant speeds and variable frequencies
under steady state.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270142393. 1

878270142394. 2

878270142395. 3

878270142396. 4

Question Number : 139 Question Id : 87827036216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Synchronous machine is used as a motor and a generator also.

Reason (R):  Synchronous machine can operate at constant speeds and variable frequencies
under steady state.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270142393. 1

878270142394. 2

878270142395. 3

878270142396. 4

Question Number : 140 Question Id : 87827036217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The calorimetric method of pH measurement is based on the assumption that if
an indicator has the same colour in two solutions, then the pH of both the solutions
are same.

Reason (R):  The colour developed depends not only on the pH but also on other factors.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270142397. 1



878270142398. 2
878270142399. 3

878270142400. 4

Question Number : 140 Question Id : 87827036217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The calorimetric method of pH measurement is based on the assumption that if
an indicator has the same colour in two solutions, then the pH of both the solutions
are same.

Reason (R):  The colour developed depends not only on the pH but also on other factors.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270142397. 1

878270142398. 2

878270142399. 3

878270142400. 4

Sub-Section Number : 2
Sub-Section Id : 8782701528
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827036218 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (141 to 145)

Question Label : Comprehension

Diffusion of impurity atoms in silicon is important in silicon integrated circuit processing, The idea
of using diffusion techniques to alter the type of conductivity in silicon or germanium was disclosed in a
patent by Pfann. Since then various ways of infroducing dopants into silicon by diffusion have been
studied with the goal of controlling dopant distribution, total dopant concentration, its uniformity
reproducibility, and of processing a large number of device wafers ina batch to reduce the manufacturing
cost. The diffusion is used to form bases, emitters and resistors in bipolar devices technology, to form
source, and drain regions and to dope polgsilicon in mos device technology. Dopant atoms that span a
wide range of concentrations can be introduced in to silicon in many ways.
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The idea of using diffusion techniques was disclosed in patent by Pfann in the year :
(1) 1948

(2) 1952

(3) 1958

(4) 1960
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A thin layer of dopant is deposited onto silicon surface with a fixed total amount of dopants Qy
per unitarea. [f D is the diffusivity of dopants, than the surface concentration is :

0 G=

) Cfﬁ XP{%;]
(3 CSZ%

& q:%
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For a diffused layer that forms a p-n junction an average sheet resistance R is defined and related
to junction depth 5 the carrier mobility p, and impurity distribution C(x) s :

4

1) Rs=q [nClr)dr
0
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Fick’s second law of diffusion in one dimensional form can be expressed as :

aC(x,t) 9 | 0C(x,t)
O

aC(x,t) 9 -DEDC(I,t)-
@ Tux Tx «

oC(x,t) 9 'D aC(x,t)]
) ot ot| o

oC(x,t) o | dC(x,t)
@ r

ot dx ot
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The diffusivity determined experimentally over a range of diffusion temperatures and can be
expressed as :
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Question Numbers : (141 to 145)

Question Label : Comprehension

Diffusion of impurity atoms in silicon is important in silicon integrated circuit processing, The idea
of using diffusion techniques to alter the type of conductivity in silicon or germanium was disclosed in a
patent by Pfann. Since then various ways of introducing dopants into silicon by diffusion have been
studied with the goal of controlling dopant distribution, total dopant concentration, its uniformity
reproducibility, and of processing a large number of device wafers in a batch to reduce the manufacl‘uring
cost. The diffusion is used to form bases, emitters and resistors in bipolar devices technology, to form
source, and drain regions and to dope polgsilicon in mos device technology. Dopant atoms that span a
wide range of concentrations can be introduced in to silicon in many ways.
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The idea of using diffusion techniques was disclosed in patent by Pfann in the year :

(1) 1948
(2) 1952
(3) 1958
(4) 1960
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A thin layer of dopant is deposited onto silicon surface with a fixed total amount of dopants Qy
per unitarea. [f D is the diffusivity of dopants, than the surface concentration is :
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O
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For a diffused layer that forms a p-n junction an average sheet resistance R is defined and related
to junction depth 5 the carrier mobility p, and impurity distribution C(x) s :

4

1) Rs=q [nClr)dr
0
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Fick’s second law of diffusion in one dimensional form can be expressed as :

aC(x,t) 9 | 0C(x,t)
O

aC(x,t) 9 -DEDC(I,t)-
@ Tux Tx «

oC(x,t) 9 'D aC(x,t)]
) ot ot| o
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The diffusivity determined experimentally over a range of diffusion temperatures and can be
expressed as :
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Antennas have become increasingly importance to the society and at present, they are indispensable.
They are being used every places. They are available in vast varieties. They are operating at various
frequencies which are depending on different application. They operate on the principle of Maxwells
equation. They have different types of radiation patterns. There are several atmospheric losses in the
way of propagation of waves. Due to which signal fades down, when it travels from transmitter to
receiver antennas.

Based on the above para, answer the fu]lowing questions :
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V XV XA is Equal to :

1) V:A-V?A

2) V- (VxA)-VA

] =
(3) —VxVxA

0
4) V(V-A)-V-VA
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Radiation resistance for a small square loop (single turn of side length 'T') of the size /10 is
approximately :

(1) 138 ohms
(2) 312 ohms
(3) 73 ohms
(4) 273 ohms
Options :
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The expression given b}r L

Aet : AG‘.I‘ (W}

P :Pt
d rzhz
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(3
(4

Pnynl‘ing vector for power flow
Power gain factor
Friis transmission formula

T U i

Radar received power
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An elliptically polarized wave travelling in the positive Z direction in air has x and y components :
Ex=15 sin(wt-px) V/m
Ey=3 sin(wt-px+77) V/m
The approximate average power per unit area is given by :
(1) 60 mW/m?
() 15mW/m?
(%) 30 mW/m?
(4) 45 mW/m?
Options:
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The propagation constant for uniform plane wave IS given by the expression given below :

| R+ML
L) G+

@) JR+oL)(G+uC)
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Question Numbers : (146 to 150)

Question Label : Comprehension

Antennas have become increasingly importance to the society and at present, they are indispensable.
They are being used every places. They are available in vast varieties. They are operating at various
frequencies which are depending on different application. They operate on the principle of Maxwells
equation. They have different types of radiation patterns. There are several atmospheric losses in the
way of propagation of waves. Due to which signal fades down, when it travels from transmitter to
receiver antennas.

Based on the above para, answer the following questions :
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VXVXA is Equal to :

I3

(1) V-A-V-A
2) V:(VxA)-VA
35 =
4 —VxVxA

(3) Ko

(4) V(V-A)-V-VA
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Radiation resistance for a small square loop (single turn of side length 'T') of the size /10 is
approximately :

(1) 138 ohms
(2) 312 ohms
(3) 73 ohms
(4) 273 ohms
Options:

878270142425. 1
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The expression given by is :

A - A,
PI‘=PI_' e;hztr(w}

I

—_

Pnynl‘ing vector for power flow
Power gain factor
Friis transmission formula

A
= L3 PR
Mt it

Radar received power
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An elliptically polarized wave travelling in the positive Z direction in air has x and y components :
Ex=15 sin(wt-px) V/m
Ey=3 sin(ot-px+7°) V/m
The approximate average power per unit area is given by :
(1) 60 mW/m?
() 15 mW/m?
(3) 30 mW/m?
(4) 45 mW/m
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The propagation constant for uniform plane wave is given by the expression given below :
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